AF-1522 BCC4C4

B.Com., (C.A.) DEGREE EXAMINATION, APRIL 2010
Fourth Semester

Commerce with Computer Applications

BUSINESS MATHEMATICS
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2=20)
Answer all the Questions
Wha is present value ?

Present Value erstrmneb erstrenr 2

What is Simple Interest ?

Sevtl euLlQ 6T6dTMITED eTedTEDT ?

Write down the formula for log(1-x)
log (1-X)etr efifleungsid @&SD) 61wWsis-

Write down the product rule for Logarthms.

DL &60&UI6IT 61LI[HE:8:60 6MHemil 61(LDSIS.

Write the De-Morgan’s Laws.

le-LDMT&&60fl65T eflSeemerT 6T(LpS)Is.

Write the subsets of A= {a, b, ¢, d}

A ={a,b,c,d} eeim scugsein 2 1 seumismeT 61WDE.
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7. State the Baye’s theorem.

Guuiwisiv CHHMSENS ETLDEIS.

&.  What is Binomial distribution ?

FABMILIL]| LIT6U6D 6T63TMITED 6T60T60T 2

b 16
9. Find the middle term in the expansion of (; + %)
b x\'
(X_ + F) evflett efifleunass,Hett BB 2_MILIL| SHTetoTS.

10. Find the co-efficient of x'* in (a - bx*)"

(a-bx*)"* eretrged X'® 661 Q& HMETTS,

Part-B (5x5=25)

Answer all the Questions

11 a. Find the simple interest for 10,000 in 5% of 5 years.
Siged 10,0008© 5% aullp iS5 eT6rlled 5 Sy BHEHHS S6ur QuLle
SIT60015.
(Or)
b. Find the amount of an annuity of Rs. 10,000 per annum for 10
years reckoning compound interest at 10% per annum.

Sig60 10,0008:& 10% auL'lp eAl851D er6fl6d 10 QUBLESDSTEN SHewmmLInetor®
ol G ellle NB55ms8 HeumHHBs.
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12 a.

13 a.

14 a.

Find the sum of the series log2 - '/, (log2)*+'/, (log2)’+.....
log2 -/, (log2)* + '/, (log2)* + ..... coeir g1 sness.

(Or)

2 4
(logn)*  (logn)*
2! 4!

Solve that 2[1 +

2 4
2[1+(10gn> , (ogn)*
2! 41

Prove the De-Morgan’s laws.
le-LomTigevfledr eflPsener erepd BepLi.
(Or)
IfA={1,2,3} B={1,3,5} {C=2,3,4,6} Find (i) AUB
(i1) AnB (iii) A-B (iv) AU(BNC)(v) A-(BNC)

A=1{1,2,3} B=1{l1,3,5%4C=2,3,4,6} aafev (i) AUB
(i) APB (iii) A-B (iv) AUBAC) (v) A-(BNC)sir wsiié sreims.

Write dow the Properties of Binomial distribution.

FABMILIL| LIT6N6OI63T LIGTITLSH6MENT 6T(LDEIS.
(Or)

A coin is tossed 6 times. What is the probability of obtaining four or
more heads?

(b HTETOTWILD 6 (WD SewrLILIBLD CUNE S1Hs LILFIDNS 4 FHene0&H6T
eWeLsHETe BEHDES6) SHT6T0TS.
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15a. If(1 +ax)"=1+ 6x + 16x*..... find the value ofa and n

16.

17.

18.

(1+ax)"=1+6x+16x*..... eTeufleb  LDMHMILD N6BT LOBLIL| SHT6ToTS.
(Or)

Using Binomial theorem, Prove that 22" - 3n - 1 is dividisble by 9.

REBOILILIL LiTeueneols LWeTLGSS Siey snetors 22" - 3n - L4s dividisble
by 9.

Part-C (3 x 10 =30)

Answer any three Questions

Find the compound interest of the Principal amount of Rs. 2,000
with the Interest rarte 4% for 2 years:

ehUML 2,00086@ 4% alllp 618558601 LI 2 SyauBaHEnsH& Fal(® euLle
SIT6T0TS.

Prove the following laws of logarithm.
a) Product Rule

b) Quotient Rule

c¢) Power Rule.

LfetTeU(HLD LDL S608 slHsmemern BpLl

a) Product Rule

b) Quotient Rule

c¢) Power Rule.

Prove that using Venn Diagram

) A-(BNC)=(A-B)U(A-C)
i) A—-(BuC)=(A-B)n(A-C)
616u6DT LILMBIgemerTL! LIesTLI®GSE BpLI.

) A-(BNC)=(A-B)U(A-C)
i) A—-(BuC)=(A-B)n(A-C)
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19.

20.

Find the value of following equations.
) (1+V5) + (1 -5

i) (2Va -+ 3)6 + (2Va - 3)°

LDSLIL| SHIT6Tors5. _

) (1+V5)5+ (1 —V5)

i) (2Va+3)°+ (2va—3)°

Write Bayes Theorem then Prove it.

Guwsiv CaOMEDS 1S Bmieys.

koK
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AF-1512 BCC 1C2

B.Com (CA). DEGREE EXAMINATION, APRIL 2010
First Semester
Commerce with Computer Applications
FUNDAMENTALS OF COMPUTER
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part - A (10 x 2 = 20)
Answer All the questions.

1. Define Computer.

SHLILITGT - auenTwm.

2. What is Software?

QLo GTO) LIMTIHGIT GTGHTD TGV GTGHTGIT

3. What is LAN?

GoVaHT - 6TGTD TGV GTGITGT 9

4. What is:Network Topology?

QOpL Coumis GLmliLimelgl) 616D M6V 61636 ?

5. What is meant by Operating System?
QFwevLT @ peopules ClLTBar wrg ?
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10.

11.

What is MS-DOS?

6TLD GTGW.L_TOV GTGSIMD TGV GTGSTGHT D

What do you mean by UNIX?

wyesflgen Lmm) Bafi ymleus wig 9

What is File?

G GTGID TG 6TGHTGT 9

Who is Windows?

)G L_Ten GTGIMTGY GTGITGEQ

What is Icon?
DEHTET GTGID TG GTEITEHT 9
Part - B
Answer All the questions.

a. What are the components of a Computer?
ST ILITGTGT (LSRN Fn DS WITED6U 9

(On)

(5 x 5 = 25)
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12.

13.

14.

a.

a.

a.

Write note on Software Evolution.

QLo LITh6T uaTidFd @GMSSH GMILIL uenTs.

Explain the needs for Communication media.
saaue OGTL i Fngamsaier Csemausamar.allars@s.

(On)

Discuss about various Protocols.

uaGeumy ewemswrest LCum_ i asmevser LnM aleurd).

What are the classification-of Operating System.
QFwed LT B F L LL5Ber L CaIn UISHET WTEG.

(On)

State any four MS-DOS commands.

TGFenILD \[BTEHT (S 6TLDETOV-L TV HL L e0ars LM Fnmid.

Write about the features of UNIX File System.
yefldav evued pevpuler FHApliwevsenerts Lmpms
GIETES

(On)
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b. Explain the file security procedure in UNIX.

yefldeder Gariiy ungsriy peL  (Lpevm uien e
adlend G s,

15. a.  Write short note about Help Menu.
Qapevt Glogy - unB Ay GPILIY TS

(On)

b. What are the salient features of Windows 98.

allewrGL_marv 98-6T Fp 1L WGVL{FET WTemau.

Part - C (3 x 10 = 30)
Answer any.Three questions.

16. Explain the functions of Computer.

sewf] L1Limesflesr Ltie T Eear allerd @ds.

17. Discuss the-working of TCP/IP.

19 @19 /0019 QFwevon’ ® wpenpullenes aleumd.

18. Briefly explain the various functions of Operating System.

Qrwevr’ @ wpeopuder L Gaim Leflsamar LD allfers

a9eTE S LD.
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19. Write about file permission procedure in UNIX.

yeflgad-ar Camiiy e peL (ppsaarts Lmpml
(LTS

20. Discuss the features of Windows XP.

aflesrGL_mav - a1V N6 L1 wevsenerirwmm alleur).

*k*k
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AF-1513 BCC 2C1

B.Com(CA) DEGREE EXAMINATION, APRIL 2010
Second Semester
Commerce with Computer Applications
ADVANCED ACCOUNTANCY - 11
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Section -A (10 x 2 =20)
Answer All'Questions.
1. Define Bills of Exchange.

IHmIE FG - euenIwim).

2. What is meant by renewal of bill?
6 YaI 19556 6T63TLIGEDT EILIMIBEIT WIS ?

3. What is Red-Ink Interest?

dleuliy-6mLD 6ULIQ 6T63TMITEL 6T6DTEDT ?

4. What is Average due date?

e H6Uen6TtT [HIT6T ET6STMITEL eT6dTEDT ?

5. What is Consignment?

SIIIB S6T018:@ 6TEITMDITED ET60TENT 2



10.

11.

What is normal loss?

FGMT600T [BLLLD 6T63TMITE0 6T60T60T 2

Define Joint venture.

Benevor-eflenest — euemIUIM).

Who are co-ventures?

B emeur-6MlemEsTILITETITHEIT WIT6UIT ?

What is single entry system?

RMDWDLI LIS (P ET6STDITED 6T65T60T ?

What is Bills Receivable Account?

LOIHMIE -G HEWTSHS ETETMTED 6T65T60T.?

Section -B (5x5=25)
Answer-All Questions

a. OnJan.6 2006, Kumar sold goods to Bindu for Rs.8,000. On the
same date, Kumar drew a four months bill on Bindu which was duly
accepted by the latter-Kumar discounted the bill on Jan 9, 2006 with
his bankers at 6%. Journalize the transactions in the books of Kumar
and Bindu where the bill is dishonoured on the due date.

2006 gevalifl 61b meT LNbEINHES ST oh. 8000 &F1&@ 6MNMHLIEHEDT
QFWISMIT. N8 mrerfled @LomiT Libgieflett L5g) et oNmiserled 6\Fey|d5 56
SaloWl LDTHMIFSLEML 611LDS G| (LPEDDUITE LNBFHI6UTED RLILS E\SBTETETLILIL L F).
&Lt gewreufl 9, 2006 Jietim) Fevrg) urkiHWTeTHLLD LMHMIFSL WL 6%5&
el 1b eFwigmT. 2_flul Brerfled oTHMIEF F1-BS O\STEnSHEMUI 6\F61|55 SUIEOMLDED
@uesTTed Gh6uT TBSHEMQILD WSHSMLICULG LiSeNewens SHs.

(On)
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b. Arun sold goods to Babu on 1% April 2007 for Rs.2000 for which
a bill of exchange for 3 months was drawn by Arun and accepted by
the latter. Give journal entries in the books of both the parties
assuming that the bill is honoured on the due date.

eILiged 1, 2007 SHedim) erh. 20008BTET CILITIBLHENEIT H(HETOT ETEITLISNIT LITL]
eretTLIGNIfIL LD efhLIEmEdT \FUWISTIT. SIS 6NDLIMETIS C\STENEHESTES: CLPEITN)] LDITS,
LDMHMIE &L I1geWET SHIHETIT 61(LPS LDHMEUT SHEWG SIMMITIT. SHEUHETIT [HT6ETEOTM)]
wIHmIF FL6 ahaILLLE) 66m SHSS60 Oenen® Smeufler a@serfleyb
GSPILCLLBLI LB SH6meNs S(H.

12. a. Kannan purchased goods from Raman, forwhich the due dates

are given below:

2007 Rs.
March 15 1,000 Due 18" April
April 21 1,500 Due 24" May
April 27 500 Due 30" June
May 15 600 Due 18" July

Find the average due date.
S6TOTETITEOT 6T6ITLIGUIT [TITLDEBT. eT6vTLISUTIL LSIIBIBEI EST6EIT(LPEH6D \FUISHSHDETEsT

S6UEMETIT [BITLSH6T Lil6dTeuhHLDMT) :

2007 B
wmig 15 1,000 seuenentr Gad gLiTeo 18
gliged. 21 1,500 Seuenent Gs8 G 24
ertimed 27 500 Beuenenr Ga ez6tT 30
Go 15 600 Beuenenr Ga gzFemen 18

FInEIil S6U6wedT [HeweT SH6u0T&SBs.

(On)
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b. Mr. X sells goods to Mr.Y as follows:
Jan 2 - Rs.1000
Feb 16 - Rs.700
Mar 22 - Rs.840

Mr.Y sells goods to Mr.X as follows:
Jan 21 - Rs.500
Mar 8 - Rs.944
April 15 - Rs.340

They agree to settle the amount on-the.average due date method.
Terms are Mr.X’s bills at 2 monthsand Mr.Y’s bills at one month.
Find out the due date and the amount to be paid.

SletoLiT X eretruieul WlsivLIT Y er60TLIONHSS SLpSTEmiLD sflHLIEHEsTEDIL

Q\F I 6ITETTIT.
gevteurfl 2 - eb. 1,000, LLigeurfl 16 = ¢m. 100, WiTg 22 - ep. 840.

st Y erestueurt et X ersirueups@ Spanemib eflhLenemenw
aFwig|erermi. Revreufl 21 - gp. 500, il 8 - ap. 944, gLIed
15 - . 340.

SHaUT&H6T GHEUBLD FITE H6UEMETIT [HIT6IT LMD CLPEOLD BHS 1S Ten&HemUI &ifl
Q\8Ulg) e\aneTer Fbndsdemen. WsvLi X eeiiueurg wmhmis FL.G 2
LDMG&Me0LD eT6vTeyLd WlsLT Y er6iTLIoUTS LOMHMIE LB 1 LDMG SHMevLd eT6vTeyLd
RULS - QSMeTTLILESMEI. LD ST Geueworioul HTeneTUD &rGeussorioul

B TEMSHEMILILILD HET0TEHSHBS.
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13. a. Chandran of Chennai consigned 200 packets of Cosmetics each
costing Rs.600 to his agent Makesh of Calcutta. He paid Rs.1,000
towards Freight and Insurance. Consignee took delivery of the goods
and spent Rs.3,400 as clearing charges and Rs.1,400 as godown
rent. Consignee sells away 140 packets. 30 packets were destroyed
at the godown of Makesh. Calculate the value of abnormal loss.
GsetTeneTTemWE BFITHS FHBT6I eT6iTLIUT H60&H5HM6Ned 2 _6item DB&6l
SI60TLI(HES 200 CLILRSEET PG SFMSHEUTL CILITIHLSEMET QEUCSTEITMILD
¢b. 600 6ligb JHeLIIG OFWISTT. 6l cueTtTe QUTLENS DHMID SHLIE
6\F60V6YHEHBBIS ¢h. 1,000 61F606AIL L. OIMBLEET 6T(BLIL 6\F606Y ¢h. 3,400
DHNID LIEHILES ST DD SUTLeDS ob. 1400/ Spdweubenn Heiii®
QLUMIBIT IHMIS EVSTETTLT. 140 LINS\SLB&6IT eflDLIemenT QFUILILILIL L 63T. 30
LUT&6&LBs6T EHal6sT ListTLs: STLLnnuled. b Guruiesr. Sbg

@uewT 578:SS6 60T HSFTHNTMETITLDIEDT [BLLLD 61661616 6TEITLIENS S SH6T0TEHSB S

(Or)

b. Kumaran of Tirupur sends 40 cases of Hosiery goods worth
Rs.20,000 to Gokale of Bombay to be solid on consignment basis on
1= April 1998. Kumaran-pays Rs.500 towards freight charge. The
goods are received by Gokale and he accepts a bill drawn on him by
Kumaran at 3 months for Rs.10,000 on 5" April 1998. The bill was
discounted on the-next day by Kumaran at 6% p.a. On 5th July 1998;
Gokale sends on account sales to Kumaran showing that sales of the
entire stock have been effected totalling Rs.24,000. His expenses
are: Godown rent Rs.500 and insurance Rs.250. Gokale is entitled
to a commission of 6% on sale proceeds. gokale sent a bank draft for
the balance due to Kumaran and settled his account.

Prepare the Account Sales and show the Ledger Accounts in the
books of Kumaran.
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14.

SBLLLDT CFITHS GLDI6T eT6dTLIeNIT . 20,000 LpLIL6Tem 40 LI IpSHener
LbLMeDIWE C&ihS CanaGe e6iTLIIHEHE HeDILITB SieliLienLuled erlimed 1,
1998 SieTn LI WEUSBOIIT. GSLDI6sT eu6Turle Fasdlwins eh. 500
OFSHHBOMT. CHTHG FIHGHMET OLMHNIS O\&TITB GLI6T HeDILILT
EDEUSS CLPETT) LDTS SHTE0SHDSTEN ¢rh. 10,0008 6wt LDNHMIEF FL DL QLILIEHS
6\FUlg) eTlimed 5, 1998 et HeDILIL eeusSSDT. LDMBT6T GLOT6I HbBS
O FremL 6% P.A & eurkiBufsd euL'LLb OFUISDTT 22°6m60 5, 1998 Sietim)
GanaGe EAhLME) H6mWI6ES LILIQUIEDE GIDISHES NI neushSpmiT.
Sifevd ¢ 24,800 sflpLenes O&ISSTS SOILILILBeiTeng)l.-GLoaLd Sieurs)
EIFEEGET : LIGWILS UMLeDS eh. 500. &M@ @250, GansGeo
sflihLenestuieo BEbH 6% &6 OLNSS5SGS 2_ewLweurnSor. GsnsGeo
SICEUETITIQUI O\FTENSHEHES 6UMhIE HNEFTEM60 HHF) GLDIevl6 HevrsHmas Siey
QFLBDMT. efDHLIEWEBILI LI 1QU 16M60WLLD GLDI6IT eTBas6rTle0 Gz emeuiment GLGM B

SH6ETTEGSSHEWETLILD SUIMT E1FILIS.

a. A joint bank account has.been opened in the joint names of
Contractor and Engineer,“Contractor pays Rs.1,50,000 and
Engineer pays Rs.1,30,000. Their transactions are:

Wages paid Rs. 80,000
Materials purchasesRs.1,00,000

Pass Journal entrigs

SmevoTenm&LT HMID Getredesflr Guifled Gewewruing &rp eubls SHewTshE
SOUGSSLILILLE). SHTewreInaLiT eb. 1,50,000 wb oHmib Sesredesflwit
¢h. 1,30,000 WD O\FQSHEMTTHET. SHEUTEHEHEDLUI [HLEUIQE DS EH6T
LNesTeHLOMMm).

&0.60 6\&MBSSS) eh. 80,000

ELPEOLIGILITIR6ITS6IT euMmbiBg) eb. 1,00,000

SPILCLLGLI LBaS6T S(H.

(On)
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15.

b.

a.

State the features of Joint venture.

Bemeuut 6flemeoTUN63T S6TTEMLDSHEIT WITEMEU ?

Calculate stock at the end:

Stock inthe beginning Rs.10,000

Purchase Rs.35,000
Cash sales Rs.30,000
Credit sales Rs. 20,000

Rate of GP. on cost 33.33% ( %)

SLpsetorL efiLITTRIGEDENS 616616 AP FI5HR6 S ImL H60TSHRBS.

Spibu srsdest vy em. 10,000

C\EMETLPS60 e. 35,000
Q&8 eflibLIEnesT 5. 30,000
sL6t1 efihLIenewT em. 20,000

onu sidsid 1 smsge ( 14)33.33%
(On)

What are the defects of single entry system?
RDMDL LIS6)] LPeMUT6T GEDDLINBS6IT WiTeney ?
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Section -C (3x10=230)
Answer any THREE Questions

16. Arul sends his promissory note for 3 months to Anbu for Rs.1200 on

17.

May 2, 2004. Anbu gets it discounted with his bankers at 6% p.a.
On the due date the bill is dishonoured, the bankers paying Rs.10 as
noting charges. Anbu agrees to accept Rs. 250 in cash(Rs. 50 for
noting charges and interest) and another promissory note for Rs.1000
for 2 months. On the due date Arul approaches Anbu again and asks
for renewal of the bill for a further period of 3 months. Anbu agrees to
the request provided Arul pays Rs.60 as interest.in‘cash. The last bill
was met at maturity.

Draft journal entries in the books of Anbu-and Arul.

2004 GLb 2 HH6BTM)| SH(IBSIT T6TLIENIT ¢ 1,200.&5SIT6DT 3 LDITS SHIT6D _6T0TIQU 16160
6T eT6TTLIONBHS NI eDeuSSDIIT. D6t Sigenesr 6% P.d. &&
amduieo alLd QFWdDTT. «wdie] mrafled Sibs WLIHNEELE
SHaUDSSELILILG6Y, URIBWIT ¢b. 10 6D GSMILILIEDT E\FE06UTS eTLDSIBDITIT.
SH6BTL] e 250 LI6TOTLDITS EILIDMIS Q) T6TemeyLD. (b, SO euLlQu|Ld GMILIOILILDS)
6\&F606LD) BEBTE16TTT(IH 2 LDIS &iTev eh- 1,000 LDSLIL|eITerT LDMbmIs Si6ewL 1IHMs
E\&eiTeneyLD SeweHmT. wpdiey BeTeTm] SHBET HedTLeALLD LBetorBLD 3 Lbms
sMesIDG MHMIF FremL L ILLISSS \STeTEhDNM) SamSmmi. Hedr
SNSHENS RLIL|E E\ST6wT(B UL LQ eTh. 60 LISWTLDNS ST HdherfLLD GevetorGHmrir.
855 seoLd &6 (WpdiTey mreTeinn) LS&SILGBDE.

Make out an account current to be rendered by Muthu to Velu on
30th Sept-2004 in respect of the following transaction appearing in
the books of Muthu.

Rs.
2004 Julyl Debit balance b/d 1,350
July5 Sold goodsto Velu 900
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July15 Received cash from Velu 1,350

Aug4  Velu purchased goods 1,920
Aug 15 Received cash from Velu 900
Sept1l Bought goods from Velu 2,100
Sept1l Paid cashto Velu 750
Sept 12 Sold goodsto Velu 960
Sept 15 Paid cash to Velu 600

Interest to be taken into account at 15% p.a. Calculate to nearest
rupee, according to product method.

w5 eesruaflen Usssmseled®mhal  @HBLUULL & SHetTL
[BLEUIREENSHSHED6TE Q\&MetT® 2004 QFLILLDLIT 30 Si6dhim) (P55 Carayayss

ST GEUETITIQU [HEML(LPEDID SHET0TEH6MS SLLIMTIT E1FIIS.

.
2004 egreweo 1 ubm Sy 1,350
2Fewe0 O Ceusyi6&& eflHLeweDT 900
efemen 15 . CougyeflLLO\bbE OUDLILILL 6\STens 1,350
Spaevr 4 Beuey O\SMETAPSED 61& WIS LI 1,920
Syt 15 GeuayelL \mbE OLDLILLL O\GT6ns 900

eeuLbuT 1 CasyefiLimma eupiurL asmstepssd 2,100

elLbuT 1 Couayeyss Oeasdu 6\smems 750
eeiLbui 12 Gougyeyse efihLienes 960
eeliLbui 15 Geuegelihe OessLiLrL 6\5Mens 600

S6EWISHBE0 TBSG1S E\GMTTeNMLILILL aul'le 15% P.a.

2 HLsE wpemmuiledt SieliLienLud6d epLIMUTEL &emTSSBS.
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18.

19.

Prem consigned 200 boxes of medicines @ Rs.100 per box to Ram.
He paid insurance Rs.1000, loading charges Rs.1600 and Freight
Rs.1400. Ram took delivery of the goods and spent clearing charges
Rs.1000, godown rent Rs.400 and advertisement Rs.1600. Ram sold
160 boxes @ Rs.200 per box.

Prepare important Ledger Accounts in the books of Prem.

LNGLD eT6TLIGUT ITTLD 6T6TLIOU([HE:ES 200 GILILIQS6IT LDIHHSISHENET EUERUTETMILD
e. 100 6figLb AHeILIIB OFUIHT. Deurt STLIIG eb. 1,000, SDHMIEHS &L L6wTLD
¢r. 1,600 LDHMILD EUETITIQ CUML6&; ¢h. 1,400 E\F60efIL L. EILIMIBLS6T eTBLIL
615606 erh. 1,000, LITITLSMLIL] HeWD 6UMLems; ¢h. 400, hmID efembLgd
eb. 1,600 SBWeumemm OMLd eIHMIG E1STETOTLIT: 160 6L IpS6IT eb. 200 6figLd

eflHLIED6TT S\FUIWLILILILL 63T
WPpa3W CUGCILBE SemTS@SSHem6T LIGTLD ETL1Ig60 SLLITIT O1FILIS.

Arun and Bala were partners in ajoint venture sharing profit and
losses in the proportion of 3/5.and 2/5 respectively. Arun supplies
goods to the value of Rs.10,000,and incurs expenses amounting
Rs.800.

Bala supplies goods to-the value of Rs.8000 and his expenses are
Rs.600.

Bala sells the:goods on behalf of the joint venture and realizes
Rs.24,000..Bala is entitled to a commission of 5% on sales. Bala
settles hisaccount by bank draft. Give Journal entries and necessary
Ledger accounts in the books of Arun only.

S|(HEOT LDMHMILD LITEOIT GIHEUIHLD (1 Se06vor 6MemevTLe0 G6OITL [HLLIBISHEM6IT
wpemmBW 3/5 HMID 2/5 616t 601855860 LNfl5 515 O\&T6TEBLD FalLmerflgsT
Sp6UIT. DA(BETT eh. 10,000 LSLIL|6iTeT EWIMIBLS6maT SHerflg g eb. 8O0 61F6v6yLD

Q\FUIG6ITETTIT.

10 AF-1513




umeor eb. 8,000 LiLeiTem QLNBLEMT SHaflsg ep. 600 e1F6aD

Q\FUIG6IT6ITTIT.

BewenT-cfenentaang LIMBLEMET 6Alhm) Limeor eb. 24,000 QLDHMIETENTI.
eflibLiemeTuT6tr L5G) Limeoneys& 5% siley 2_6GoT(B. LIT6OIT 6018 SEUTEH60a: 6UhIS
©_etoTiQUIED eLpedLD GrbiT O\FWIBMITIT.

Simenllett @serfled GMUCLLGBL Lfeysenenud Gsemeuwimen GLATL B

SHETTEGSSHEWETLILD SUITT E1FIIS.

*k*k
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AF-1514 BCC 2C2

B.Com (CA). DEGREE EXAMINATION, APRIL 2010
Second Semester
Commerce with Computer Applications
OPERATINGSYSTEM
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks

Part - A (10 x 1% = 15)
Answer All the questions.

1. What is an Operating System?

LG 19 B FOVL_LD GTGNDAGO-GTGHTGT ?

2. What is a Time Sharing?

b GFilmI 6165 TGV, 6TGTGHT P

3. Define : Process.

gnFev. - @ueIwmn).

4. What are the types of Scheduling?

/L L aueanaTulll_ 6O 6T QUNBHET 6T6T0)GET GO 9



10.

What is Swapping?

oV LI B! TG TGV GTGTGHT?

Define : Segmentation.

UDSLILI(BSSIFEV - U TWM].

What is meant by a File?

CamLiLy e16TLIS T QLIMIHET 6TGTG?

What do you understand by File Storage method?

Cariiy ungisriiLy wpeop Lm® Hafi mleus wng 9

What is Software?

QLo GTO)LIMTIHGT GTGID TG GTGHTGT?

Define : Virus.

QUTCV - QUGHTWIM].

2 AF-1514




Part - B (5 x 3 = 15)

Answer All the questions.

11. a. Define: Simple Batch Processing.

FibL9er CGui g pmevedm - auedgwm).

(On)

b. Define: Personal Computer System.

LITFeTeY SLDWL L T FaVL_LD - U TWIm].

12. a. Define : Deadlock.
QL ewrd - auedgwm.
(©rn)
b. Write a note on Semaphores.

Qe Cumien GBlss GOILIL e is.

13. a.  What 1s Virtual Memory?
QUTFAIGY [BEOGTAUFHLD GTGITDTGY GGG ?

(On)

b. Write a short note on Memory Protection.

Quobiol Ly IOIL_sger LHL Fmy GO uenTs.

3 AF-1514




14.

15.

16.

17.

a. Explain about File Abstraction.
CarliyseL etatUens LDD a96TsEs%.
(Or)
b. Write a short note on File Security.

Camiiy ungismiy uppg oGPl auenis.

a. Explain about Modeling on Discs.

LOML_6SB1 Q60T 19 6V% LIHM) alend &%,
(Or)
b. What is meant by External Security?
e1davCLriewey GledwyMiig upp alerd@s.
Part - C (3 x 10 = 30)
Answer any Three questions.

Explain about-Parallel System.

Gupeev Fev_Lb LD aeTs 5.

Briefly explain Process Scheduling.

omevev 9”1 euenentuil_cv LpHM allfeurs alersEs.

4 AF-1514




18. Write about Virtual Memory Management.

afigeucd Gobiof GoGergyoer’ L) 6T(Lps.

19. Briefly explain about File Block on Disk.

@ue fernd et 1gevd5 PP alfleuns alleu.

20. Explain the Disk Device Driver Access Strategies.

g avd emalav gegaui agsevevuiier Csml Lm®ser Lipp

adlend G s,

*k*k
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AF-1515 BCC 3C1

B.Com (CA)., DEGREE EXAMINATION, APRIL 2010
Third Semester
Commerce with Computer Applications
RELATIONAL DATABASE MANAGEMENT SYSTEM
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part - A (10 x 1 % = 15)

Answer ALL Questions

1. A Relational Table has a set of named or columns
and a set of Oor rOWwS.
MGavagarev GLL9adev GTGTLIGNS HMGULD LOMMILD

eTaTLIEDSG GIm 6163 LD FomiGeumib.

2. What is the expansion of RDBMS?
RDBMS&r af)fleunssid 61651689

3. Wirite any two Oracle’s future.

Oracle’s e18)isaevid Q)essiig e 6T(LpSI%.

4. Write any. two DDL commands.
DDL commands @)geuiig ener 61(Lpis.

5. What are two variables of environment used in SQL * Plus.

SQL * Plusev vwert®gsiu@®ib @ oes@® environmental
variables Lm ) 61(1pgi5.



6. Define PL/SQL.
PL/SQL wupm afau.

7. Write Block Structure of PL/SQL.

PL/SQLair Block Structuresmwr 6r(tpsis.

8. What is Oracle?

Oracle ereormmev 61631652

9. What are the two forms of declaring Variables?

Variablesenw oylafld@Lb @) oei(h) wpemnEenarn 61(Lpsis.

10. Write any three PL/SQL Data types.

PL/SQL Data cuensseir-epeienm 61(LpSI%.

Part - B (5x3=15)
Answer ALL the questions

11. a. Explain the various needs of Oracle.
Oraclear LewGoum Caemausenar LiHm alau.
(Or)
b. What are the parts of Oracle ?

Oraclear unmsBIZamer gmp aleu.
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12.

13.

14.

15.

a.

a.

a.

a.

Explain about DCL commands.

DCL commandseowi’s umpm) afeurd.
(Or)

Write about DML commands.

DML commandsenw s Lipm) 61(tpss.

What are the procedures for Table Merging?

Table Merging Gl#uicugnsrest auflLpenmser LMB) 6T(LSI%.
(Or)

Explain the Set Operators.

Set Operatorsenwi’s Lpm) e1(LpSIs.

How can you create Index?
Indexeir o (eunds-LiHmg) 6T(LHSIS.
(Or)
What is Literals‘and write some examples.

Literals e1cirmmev 6165763 LoPMILD FGV 2 FTTCRIEIFGT S (Hb.

Write a Structure of ‘if else” Statement.

‘if else’ Statementer yevioLieorr LHY) 6T1(1LpSIS.
(Or)

How can you declare Variables?

Variables oyplaflé@id wpewpulenes 61(Lpsis.

3 AF-1515




16

17.

18.

19.

20.

Part - C (3 x 10 = 30)
Answer any THREE questions.

Explain the Relational Data Model.

Relational Data Modeleww s Lipp) afleussayib.

Explain any five SQL * Plus commands.
SQL * Plus commands @pengls Lpm) afleufidsaib.

Write a Program to find whether.the given number is Odd or
Even.

QSTRSSLILIL (B GITAT 61607 ZDEOD QWSS GTGRTeRTT, ()Tl 6oL

Q)VSS GTGRTERTT 6T6WS FHETL_MlU|LD BTV 6T(LHSIS%.

Explain the structure of PL/SQL.
PL/SQLe&7 gyewiotiemns Limm) afeur.

Explain the three brands of Looping supported by PL/SQL.

PL/SQL support Qeuiuyib epermy brands of Looping wipm
NETES

sk
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AF-1516 BCC3C2

B.Com (CA)., DEGREE EXAMINATION, APRIL 2010
Third Semester
Commerce with Computer Applications
C PROGRAMMING
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part - A (10 x 1% = 15)
Answer All questions

1. Write the three classes of Data Types.

OGN USIWITET ST6 UENFE I GT(LPSHIS.

2. Write about the Increment and Decrement Operators with
example.

Increment wopmyb Decrement-go o groentd g1 aflensEs.

3. Find out the errors.
if (code >1);
a=a+b

S QUM|F G 6T FHGRTL_HIIGLD.

if (code >1);
a=a+b;
4. Draw the Flowchart of “else ......... if” ladder.
‘else ......... if” ladderar Q@pplpeom alerdsLiLi b auers.

5. How can you initialise the values for Two Dimensional Array?
@ ufioresst eslls@bs @ LG LILS CsTRLILIg 6T iLIg 9

1



10.

11.

What is a Pointer?

Pointer erearp v er6TERT?

Write the basic File Operations.

Gariiysafler Caumeasamar 6T(Lpsis.

Write the function of # if def Directive.

# if def-cir Gouemevsenar e1(1pg15 2

Write any six ANSI C keywords.
ANSI C-er aigmougy <umi keywordsgs erpgis.

Write the “for statement’ to print the following sequence of
integers.

1, 2, 4, 8, 16, 32.
Gipsrewyib integersgy print-Gewiw o gayb “for statement’ g
CT(LRSIS.

1,2, 4,8, 16, 32

Part - B (5 x 3=15)
Answer All the questions

a. Explain the Arithmetic Operators.
GTGWT Fewil% QWISFFTLI LIHD) 6T(LPSHIS.
(Or)
b. Write the different types of Variable Declarations.

aPlsEeer Blals@GL ISHSETL LD 61(LHSI%.
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12.

13.

14.

15.

a.

a.

a.

a.

Write the Syntax of “While .......... loop” and Explain.

‘While .......... loop’-&r s L_eoolien LpP aleuidsayLb.
(Or)

Explain the Increment and Decrement Operators.

APsALIY wPpid GeopLiy QuéRHerw aleurBHdsaLb.

Write about the different types of Arrays?
Arrays-ar euenase@arL Lmm eT(LpsI%.

(Or)
Write a C Program to add the given 3 numbers.

PG GTevTHemand ol L& Qb C Bloemev e1(1psys.

Define and explain the.Pointers.

Pointers upm e11p® aeuMdsayLb.
(Or)

Discuss about. the Size of Operator.

Size of Operator up aNeuT@ssa Lb.

Write the features of Miscellaneous.

Miscellaneous-er featuresgy erpgis.
(Or)

Write about the special functions in C.

C Qumpluier special functions Lip erpgis.

3 AF-1516




16

17.

18.

19.

20.

Part - C (3x10=30)

Answer any Three questions.

Explain the basic structure of C Program.

C Qumpuier < iten Blgev yeiwlienu alaifssea b,

Discuss about the print f and scan f. functions.

print f wpmb scan f  eriyseerty Lpy) aleunr@ssayLp.

Explain the work of ‘strcpy’, “strcat’ and ‘strlen’ with example.

‘strcpy’, ‘strcat’ opmyih ‘strlen’ -ar Gouewaverw o FryewTd gL
aJlemsGs.

What are all the uses of include, “if def’ and ‘if def else’?

‘include’ “if def’ wppib “if def else’-er Lwesaman e1(1p%15.

*k*k

4 AF-1516




AF-1517 BCC3C3

B.Com (CA)., DEGREE EXAMINATION, APRIL 2010
Third Semester
Commerce with Computer Applications
BUSINESS STATISTICS
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 marks
Part - A (10 x 2 = 20)
Answer All questions

1. What is Diagrams?

QUGHTLIL_BIHGIT TG TGV GTGSTGH ?

2. What is Interview Schedule?

GBismenTed L L_61G6H G (GTGHIMD TG GTGGH P

3. What is Mode?

P&® GTTDTCY GTET 6T ?

4. What do you mean by Quartile Deviation?

FMe0 LOIRT IVsGHLD GHUISS badi yPlais wrg 9

5. What is Correlation?

RLBGDeYHC)FLY CTGID TV GTGHTET?



10.

11.

What is Regression Line on X on Y?
X-wier Bgaer Y -ufer Qgmiiys Csm® 6TeImmed 6766 ?

GTGOTD TGV GTGITGHT 9

What is Index Number?

@OUTL (D) GTERIHGT GTGD TGV GTGHTGH ?

What is Laspeyre’s Index Number?

emevLfwir GBI (B 6TERT TG TGV 6T6HTGT?

What is Time Series?

SMLD FT QSTLIT aUMenF GTGHID TGV GTGTGT?

What is Seasonal Variation?

@Lpev CoumyLIm(h) 6TEHM M6V, 6TEHTEN 9

Part - B (5 x5=25)
Answer All the questions

a.  What are the various sources of Secondary Data?

@uesst_mib Blevev Lyeiten alleuTmISaN6T eLpGUBIGET WTeM6u?

(Or)

b. Explain the various types of Samples.

wr@Muiler ueGeun amssemar allard@s.
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Calculate the mean from the following data.

Marks 0-10 [10-20{20-30] 30-40140-50(50-60
No. of
Students 5 10 25 30 20 10

B1ps5rasILd aLTEISen el Bhsl Fn_ B FITF &Tews.

@16 Lessr [0-10 |10-20 | 20-30 | 30-40 "|40-50 |50-60

LOTGWTUTH6T | & 10 25 30 20 10

GTGOIT GO |5 G

(Or)

Calculate the Standard Deviation from the age group of

Employees.

Age 20-25}.25-30]| 30-35| 35-40( 40-45( 45-50

Employees| 170 110 | 80 | 45 40 30

BTN GVSFHLD S TGHT .

YL} 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50

LssturmoTeT | 170 110 8 45 40 30

3 AF-1517




13.

a.

Calculate Karl Pearsons co-effficient of correlation.

X 48 35 17 23 47

Y 45 20 40 25 45

Hwigeller @l Gpeyd Cl&wpeneas sev®k Ly

6156V 48 35 17 23 47

QUi 5| 20 |0 |25 o

(Or)

Find the most likely production.corresponding to a rainfall

40" from the following data.

Rainfall Production

Average 30” 500 kg
Standard Deviation 57 100 kg
Co-efficient of correlation = 0.8

Wereupid adlLigmiseledBisl, 40" weorp searailler GLng

aDLBHSSLILIBHLD 2 PLISS) 9TaIenesT &T6u5Ts5.

@ YaTa| 2 HUSH

FgaF 30" 500 kg
SIallevdsLD 5" 100 kg
RGOS GlaLp = 0.8

4 AF-1517




14.

a.

Compute Consumer Price Index from the following :—

Group Base year Current year Weight
Price Price (%)
Food 400 550 35
Rent 250 300 25
Clothing 500 600 15
Fuel 200 350 20
Entertainment 150 225 5

Leteu@pLd aleugmisens @ HHTCaTT allemev Gmluf enr_

FH6wT5 %) () %.
&P 919 LI B LD 11 16wt () 2/ 6TR
94, 6557(h). @766V adllemev (%)

2 GWTR 400 850 35
QUTL_GDS 250 300 25

2 I _ 500 600 15
1@l LT(H 6T 200 350 20
GCaraldens 150 225 5

(Or)
5 AF-1517




15.

a.

Explain any four types of Index Numbers.
adaCueb BTG s GO G  eTeRTH oT

VI EICER

Find the seasonal variations by Simple Average Method.

Year Ist 2nd 3rd 4th
Quarter Quarter Quarter Quarter
2004 3.7 4.1 33 3.5
2005 3.7 3.9 3.6 3.6
2006 4.0 4.1 3.3 3.1
2007 3.3 4.4 4.0 4.0

etoummd aSeugmsaned mBEg Smev Geumiim®h%emar

FgrEd (penmuiley FTevrss.

24,657 (h) (LpFHEV 2615/ 36ugl 46ug)
FIUTEST(R) | HTeVTeHsI(H) | HTVTESI(R) | HTGVTEHT(H)
2004 3.7 4.1 3.3 3.5
2005 3.7 3.9 3.6 3.6
2006 4.0 4.1 3.3 3.1
2007 3.3 4.4 4.0 4.0
(Or)

6 AF-1517




b. Explain the importance of Time Series Analysis in Business.
Mururgs@e $TwsG0STL T ulens LGSSTualer
(PSBWS GGG AI6TSH%.

Part - C (31 %410 = 30)
Answer any Three questions.

16 Explain the importance of Statistics.

yereflulwedler (psFwsgeusams allers@s.

17. Calculate the Mean Deviation (from Mean) from the following

Data.
Size 3-4 45 5-6 6-7 7-8 89 09-10
Frequency 3 7 22 60 85 32 8

LereupLd aleudmisens @ Fonad allewdsid (FrmFmulled) s hs)

&TGO5TS.
9 GIT6Y 3-4 4-5 5-6 6-7 7-8 8-9 9-10
Pep@aueir 3 7 2 6 & 2 8

7 AF-1517




18. The marks obtained by students in two different subjects are given
below. Compute Rank Correlation Co-efficient.
Marks in 60 15 20 28 12 40 80 20
I subject

Marks in 10 40 30 50 30 2060 30

IT subject

Q@ uess(® UTL Bigallev wresteuiser GLUDm LoF L6) L6 6
LestauaLomm. @eupplev Q) wbg aulleF.eL” Hmad C)%Lpemau
FH6wT5 %) () %.

(LPSGOLITL 60 15 2 28 12 40 & 20
LOBLIG)LIGESTSHGIT

@)gewtL_mLb

LimL 10 40 30 50 30 20 60 30

L&) 16 L16EsTS 6iT

19. Calculate Laspeyre, Paasche’s and Fisher Ideal Index Numbers
for the following data - —

Quantity Price
Commodity 2006 2007 2006 2007
A 20 16 1.2 2
B 35 38 2.1 2.4
C 10 9 3 4.1
D 45 50 0.8 1.2

8 AF-1517




ereu@pd aluIEIEEhd @, ewTevlwi, UFFTeV LHMILD

ewpeuim GPIIL B cTeTHmar He0isbG) (%,

9 GTRf aflenev
Qumper 2006 2007 2006 2007
20 16 1.2 2
L9 35 38 2.1 2.4
2] 10 9 3 4.1
19 45 50 0.8 1.2

20. Fit a straight line trend by the method least squares from the

following,
Year ;2001 2002 2003 2004 2005 2006 2007
Production: 77 88 94 85 91 98 90

S1ps51aILD 2 PGHUNBES &HODhS auidss (LpeopuieT SLp
Crir Carhgarenn CLITBS3%.

gk @ 2001 2002 2003 2004 2005 2006 2007

opus®: 77 88 94 85 91 98 90

skkok
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AF-1518 BCC 3C4

B.Com (CA). DEGREE EXAMINATION, APRIL 2010
Third Semester
Commerce with Computer Applications
ADVANCED ACCOUNTANCY - 11T
(CBCS - 2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
Part - A (10 x 2 = 20)
Answer all Questions

1. What is ‘Profit and Loss Appropriation Account’?

‘Qevr BLL LIGNT6 H6815@  GTGRIDTGY GTGTGH 9
2. What do you mean by ‘Fluctuating Capital’?
‘oML (LS GTGTLIG. LIDM) 2 LD&] (5SS WITSH 9
3. What is ‘Revaluation Account’?
‘pIB LT HS FewTdh@ 6T D T6Y 6166 9
4. What is Goodwill?

B O LIWIT GTGID TG 6TGHTGOT?

5. What is Gaining Ratio?

ST GFLD TGN TG GGG ?

6. Differentiate between Retirement and Death of a Partner.
RB  FImLLgafller  aflwses@Gd Q) LIdn@ L mer

Goupium’ e .

7. What is Realisation Account?

Bi6d &H6wTdh @ GTRIDTCY TGS ?

1



8.

9.

Distinguish between Dissolution of Firm and Dissolution of
Partnership.

ol L_[TGSSTGHLD [BMIGIGT HGWGULIL] - Fnl L TGRTGHLOGHEGULIL] -

Goumi LIBSSI%.

What do you mean by Piecemean Distribution?
LUGuUTes @ JLUCUT®SW LG [Te) 6T6TLS HDD 2 10F
WSS W19

10. What is Purchase Consideration?

11.

QS TGTLPS GV LOMILILIGHT GTGTD TG GTGTGT?

Part - B (5 x5=2))
Answer all the questions
a. Explain the special features of. Partnerhip.
L L_mestenLouilest FpLlifwuevysear allerd@s.

(Qr)

b. A and B are Partners with’ Capital of Rs. 20,000 and

Rs. 10,000 whose profit.sharing ratio is 3 : 2. They admit C
for a sixth share with-a Capital of Rs. 4,000. A and B have
guaranteed C that his Share shall not amount to less than
Rs. 1,000 in any year. During the year 2002, A and B have
each drawn Rs..2,000 and C Rs. 1,000. The net profit for
the year before providing interest on Capital at 6% was
Rs. 4,800.

You are required to show Capital Account of the
Partners.

e. 20,000 LopmiLd em. 10,000 (LpFev O)HTGTL Fonl” L M6 S 6T
A wppib B 98w Qeuisefler @ewru LG iey a9% sLb
3:2. @euiger C erarueueny gearpled n ol%s58 0 G
54,000 LpSLc1 CFiGHIS0STeET(H Youhd G 61D
R Y@TBLD QoL LIBIG ¢F. 1,000D@ &HD TS 6T6oT
2 $Frunsib aflggerereti. L L1Lmeer® 20026
Awpmib Ber et iy sevr ep. 2,000. Cer 61(h) Ly e. 1,000.
6% (LpFev LBF QUL 195G (LpHDS (QGTLILD [BL_LILITEETLY 6D
o5. 4,800.

Il L el SeN6T (LS FHewTSGHB® T HTL (H.
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12.

13.

a.

a.

Calculate the amount of Goodwill as three years purchase of
last four years average profits. They are

I year Rs. 5,000
II year Rs. 8,000
I year Rs. 3,000 (loss)
IV year Rs. 6,000

SL_[bF [BTGTHTEOTLY G FITFH (Q)6VTLISH G eLp 6T m 6wt ()

QsTeTLpSe 6Tes B0 LILIHT FHewTdH (BH%. (Q)6VTLIBIEGT

|0 5. 5,000
11 syerd er5. 8,000
11l oy a(p . 3,000 (BLL tb)
IV oyamp er5. 6,000
(Or)

P and Q were partners sharing in 4:2 ratio. R was admitted
for 1/4th share which he acquired equally from both
P and Q. Calculate thenew Profit Sharing Ratio.

&L Lmaflgar P wpmib Q u@ipg Osmereugy 4:2
0855 F . R ererueur Crigsiiul L g 1/4 UBSDG
Qs Qoud P wopnib Q % Cuwrf1A®BEH Fowrs
Qupmis QsmewrLmi. 4w Qewru URTe) allHsLb

FH6T5 %) (h%.

Write a note on “Joint Life Policy”.
“aml (B e TSR - Pm GOILIL ueHTs.
(Or)
What do you mean by “Profit and Loss Suspense Account”?

“QevrT BL L YITLDGHSG FeTdh@ 6T6TLS LD 2 Log)
FBSSI WS ?
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14.

a.

X, Y and Z are equal partners and they decided to dissolve
their Firm. The following is their Balance Sheet after the Sale
of Assets.

Liabilities Rs. Assets Rs.
X’s Capital 1,800 | Cash 1,500
Y’s Capital 1,200 | Z’s Capital

overdrawn 600
Realisation 900
3,000 3,000

Z became insolvent and could not pay.anything to the Firm.
Prepare the necessary Ledger Accounts to close the Books.

X, Y wpnib Z R w Fo@l@s gL meflF6T BB er
BDIaaTdamns $mwss (iga] OFuigeari. 0F15516%ear
P Lier Syeuisafler @pLiy Bleowsds @Golliy L9er
QUBLOMD).

QummLiLyser e O\ F1551 5% 6T erp.
Xe&r (Lpgev 1,800 | QurssLd 1,500
Y &1 (Lpgev 1,200 | Z&5T (LpSev

(D@Bs T®BLIL) 600
8iad Fe1s 3 900
3,000 3,000

Z aieiieurt G\pmg g CUreTsmed BlmiaentsS @ eIgiLb
ST Quevnsg o ererai. @ bBleewuiley  BlpieaTs
s Gasmar  (pypds  Csemeauwmear CuGrl (3
FETSHHFET &IWITHS5S.

(Or)

The following is the Balance Sheet of A, B and C as on
31.12.2005 :—

4 AF-1518




Liabilities Rs. Assets Rs.

Creditors 40,000 | Cash at Bank
(Assets Realised) 10,000

Capitals: C’s Capital 4,000
A 20,000 | Realisation 66,000
B 20,000

80,000 80,000

A, B and C are equal Partners. Assuming that all the
partners are insolvent and could contribute nothing towards
the Firm, prepare necessary Ledger-Accounts to close the
Books of the Firm.

31.12.2005 <yastewpw A, Buwpmib Cer @ pLiy pleoevd
@D LeTeuniomn).

QummLiLyser B O\ F1551 5% 6T erp.

SL_evt G it 40,000 | eumiGudlmLiLy

(QF15 315 F6T

RDIE)) 10,000
(LPS & Cetr (pgev 4,000
A 20,000 | Brieydaewis 66,000
B 20,000

80,000 80,000

A, B wppib C 4@Curi s al5g oL meflser.
A@aUWGLD CBTY S5 BDaTSSDHG dagib 57 @ ueng
oTars  Oarea® BlpioueT SeTsGE®er (PG SSS

Caemauwmrer CUGCTL (B Hew15%SHH6T SWTHSHS.
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15.

a.

A, B and C carry on business in Partnership sharing profits
and losses 1/2, 3/8 and 1/8 respectively. On 31.3.2005 they
agreed to sell their Business to a Limited Company. Their
position on that date was as follows:

Liabilities Rs. Assets Rs.
Capitals: Land & Buildings 18,000
A 20,000 | Machinery 12,000
B 15,000 | Debtors 15,000
C 13,000 | Stock 13,000
Mortgage Loan 4,000 | Cash 2,000
Creditors 8,000

60,000 60,000

Purchase consideration agreed.upon was Rs. 51,300. The
Company paid Rs. 33,500 in.fully paid share of Rs 10 each
and balance in Cash.

Prepare the accounts to.close the books of the Firm.

L L_messenouiev alwmymgb GFuig eu@md A, B opmyib
Car Qeru wu®iey &g 1/2, 3/8 wpmib 1/8
wpe»Cur. 31.3.2005 TN 6UTHGT FBISGT QIWITLITIS®S
RO U@IUMISL UL L BDIWSEHHSG @ps wpye)
CFuigari. 235Gz ulew 9euiser Blenev SLpaubLOTI.

QummLiyFer erp. O\ F1551 5% 6T erp.
ELE BlevupLb
SL_L_B1%@HLD 18,000
A 20,000 | @uESoid 12,000
B 15,000 | sL_csrreflseir 15,000
C 13,000 | ¥78%) (BLILY 13,000
OIL_LDTGETSHSHL_GST 4,000 | QgrgsLd 2,000
sL_evt G it 8,000
60,000 60,000
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Q& meT(Lp S 6V LD M L1 W G3T erp . 51,300 GTGoT
RUILSOS TGO ILIL L. BIDILOLD e 33,500-80 HGST (Lp(LHSHILD
QeassLiLl L ep. 10 afs LIBIGSaTTSa D LESLPGTATENS
OumssLmsaD Cl&THSSSI.

QI &T 6T(h) &6 GT 55 Csenauwmer CuGr®senar
] wry =2

SWTMES.
(Or)

b. P, Q and R share profits in the proportion.of 1/2, 1/4 and
1/4.. Their Capital account stood at Rs. 10,000, Rs. 10,000
and Rs. 6,000 respectively. The available cash is Rs. 20,000.
Distribute the Cash to the partners as per proportionate
Capital method.

P, Q wpmpib R 9&Curt Qerusisaer L% ibg
Qamerepd al@gib 1/2;3.1/4 wpmiib 1/4. @)euisafer
epsaTLd (LpemGw ep. 10,000, em. 10,000 wPmiLb emp. 6,000
61T 2 6Tongl. e&ulHLILIev o erer QO grdsLb em. 20,000.

LpS® Sewtdh@ al@sLILIg Q) bs Clinsssms LINssalss5.

Part - C 3 x 10 = 30)

Answer any three questions.

16. On st January 2003 X and Y entered into partnership on the

following terms:—

i X and Y are to contribute Capitals of Rs. 1,00,000 and
Rs. 60,000 respectively.

. Profit and Losses are to be shared in the ratio of 3:2
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. Interest on drawings is to be charged at 2% p.a. and on
Capitals at 5% p.a.

iv. X is to get a salary of Rs. 1,000 per month.

v. Y is to get comission at 2% on net profit of the firm before
charging any of the above.

On 31st December, 2003 their Trading and Profits before are
giving effect to the above terms was Rs. 1,20,000. During the
year, X has withdrawn Rs. 2,000 and Y Rs.~1,000 from the
Firm.

You are required to prepare Profit and Loss appropriation

Account and Capital Accounts.

@arauf 1, 2003 1M SLpeuhd ayIsHS%He6T Llg X wpnib Y

R FaL_L_TeTen UN6) (D)6 ERTHS G

L X wppb Y yollss Couerygw @wsew wpempGu
em. 1,00,000 LopmiLd em. 60,000.

L Qerupl L Biser u&iey al&gLb 3:2.

L. erQLer WS yewrgn@ 2% wHpmIb P LBF
2L ERTLY DG 5% L 19 HewTHFL_aLb.

v. Xp@ wagl en. 1,000 carGuith $yeyLb.

V. Yp& Cupammpl 615/a b 6T(LpSILD (LpGT 2 6T (Q)eUTLISH6)
2%.510e) $T0Lb.

31 19 FibL 2003 yesimy CLomdaplueupPln @ (LpHeSIW Q)GUTLILD

em. 1,20,000. @)euaimentigev Xer 61(RLIL eh. 2,000 opmitb Y 6T

e1(h LIy em. 1,000.

@eru pLL L6 FeTHG LOHMILD (LS HESHHHET &(H%b.
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17.

The following is the Balance Sheet of X and Y.

Liabilities Rs. Assets Rs.
Creditors 40,000 | Bank 40,000
Bills Payable 20,000 | Debtors 20,000
General Reserve 6,000 | Furniture 8,000
Profit and Loss A/c 6,000 | Building 54,000
Capitals:

X 30,000

Y 20,000

1,22,000 1,22,000

They agree to admit Z into the firm on/the following conditions :—
i A Goodwill Account be raised-at-Rs. 20,000.

ii.  Furniture and Buildings be depteciated by 5%.

. A Reserve of 5% be created on Debtors.

iv. Z brings Rs. 24,000 as-his Capital and gets 1/4th share.

Prepare Revaluation Account,Capital Account and Balance Sheet.

X wpnib Yer @pLiy Blenevs GmlLiL) SLpaipomm).

Qummy L1y Heir erp. O\ F1551 5% 6T erp.
sL_evt G it 40,000 | 6umi%) 40,000
O Fad S5 G M HL_GOTTGHS GIT 20,000

LoADmIFL (b 20,000
QLg% SmiLy 6,000 | oemewmTLIemeTWIBISET 8,000
@ TpL L &56wTs 6,000 | B1°191_miFeir 54,000
UpFev:

X 30,000

Y 13,000

1,22,000 1,22,000
9 AF-1518




BLUWHLD apTSSHISSET LI 7 GTRTLIIGT Fnl' L_T68T6D LD U560

Caigal Gamerer (LpLyQouBSSLILIL L F.

L

iv.

aT@saflev BEHOLIWT ep. 20,000 6TT 2 WiGHLILIL
GauesT(R)Lb.

LD GW) GRTILI GO GUT LI BIH GIT LOMMILD FHL 19 L B1%56T 5% G UiLo meeTLd
eTpS LI Gaueur(B)LD.

SL_armellger 5% Sl eapLB®SSLT L Ceuessi(hLb.

Z wpswns ep. 24,000 Q& met(®) o bEbITH GO GpeTMm

usli@g Qunms Clsmerar Geuess (B Lb.

LOILF LI B 65575 @, nl L Tafls6r WpSHed Hewrd@ Lo mILD
@ LYy pleoesds@Plliy swumids.

18. A and B are Partners sharing Profits and Losses in the ratio of
3:2. Their Balance Sheet is as under:

Liabilities Rs. Assets Rs.
Capitals: Machinery 30,000
A 30,000 | Stocks 24,000
B 22,500 | Debtors 22,500
Reserve Account 22,500 | Bank 9,750
Creditors 11,250
86,250 86,250

B retires on the following terms:

i

Goodwill of the firm is valued at Rs. 37,500

1
Depreciate Machinery by 75 % and Stock by 15%.

A Bad Debts provision is raised against Debtors at 5% and
against Creditors at 2% for Discount Reserve.

Prepare Capital Account and new Balance Sheet.
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3:2 a%$sPw Qaevru BLLBiIsar LIS b 06 TeTEs LD
A wpmib Ber @@Liy Blenewd@mllin Spamiomm).

Qummy LIy Heir erp. O\ F1551 5% 6T erp.
LB QupELd 30,000
A 30,000 | 78S LY 24,000
B 22,500 | el BaT 22,500
ST 22,500 | oumi%) 9,750
SL_evt G it 11,250
86,250 86,250

Spaumpeuatiig B allew®s Qsmer@ .

L Boeues@er ppelLwT ep-37,500 etest 0@ LN L1’ 1 g).

. 1

L  Qup&o 7 ) %o WO FISSH LI 15% P L19DSHLD
Qeunwcin_Gauessi(pid.

. sLewralser5s 5% agnésL_ 1 STULLD SL_655CSmi
1551 2% FerapLilg STULLLD anLIHSS CouesT(BLb.

WPSD SEMEGFET LHDIL YPw QBLL plows GplliL

SWTMNES.

19. Explain-the rules with examples laid down in the “Garner Vs
Murray” Case.

“srieri 1@ i wpiGr aps&HeT LIy 1Py TRT @)% % er

2 FMICHISHSIL_GT QI6TS &%,
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20. Following is the Balance Sheet of M/s A, B and C who share
Profits and Losses in the ratio of 2:2:1 :—

Liabilities Rs. Assets Rs.
Creditors 30,000 [ Cash 4,000
Capitals: Debtors 44,000

A 30,000 | Stock 44,000

B 24,000

C 8,000

92,000 92,000

The Firm was dissolved and the Assets were realised gradually
Rs. 20,000 as I instalment, Rs. 30,000 as'II instalment and Rs.
18,000 as Final instalment.

Show the Distribution of Cash as per' Maximum Loss Method.

A, B wpnib Cer @iy slevewd@mlliLy &ipebiomm.
@euizser @evru BL L LUGie) @INBSLD 2:2:1.

Qummy LIy Heir oI O\ F1551 5% 6T erp.
SL_avilb Gt 30,000 | QgrssLd 4,000
(LPSGV: HL_GOTTGHS GIT 44,000

A 30,000 | #75% (HLILY 44,000

B 24,000

C 8,000

92,000 92,000

BDIUGILD $@SGSLILIL R QO IréswnssLiul L CFm1ss%%6r
QUDISDSH6T (PG FeueneaTiiTs eh. 20,000, () FessrL_mLb
Foau@enTiTs ep. 30,000, Qmi% FeuenewtwTs en. 18,000.
o FFLssF BL L wpepuilev Curssses LS THSeNLIL®S

ST ().

sk
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AF-1519 BCCA4C1

B.Com. (C.A.)) DEGREE EXAMINATION, APRIL 2010
Fourth Semester
Commerce with Computer
E-COMMERCEAND INTERNET
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1%2 = 15)

Answer all Questions.
1. Define E-Commerce?

E-Commerceg efieurf.
2. What are all the components of I-way infrastructure ?

I-Way infrastructure-est apsdus®_stugsser esitest ?

3. Whatdo you meanby URLS ?
URL Setr Bewev eretrent 2

4. WhatisaDecryption?

Decryption eisiimred eretrest 2

5.  Compare EDI with e-mail.

EDlge-mail 2_Letr cOMpare e\sus.
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6. Write the types of on-line transaction

On-line transaction-eir euenasemer erupss.

7. Whatis the Internet ?

BWEBIWLISEITLD 6T6ITMITED 6T60TE0T ?

8.  Write about the Shell Account

Shell Account b erwpsis 2

9. WhatisJava Script?

Java Script erestmmeb eretrent 2

10. Write the Abbriviation of DHTML ?
DHTML-etr efifleuns:ab eretrest ?
Part-B (5x3=15)
Answer All the Questions.

11 a. Explain the elements of e-commerce.

€-CoOMmMerce-etr uGSs6T GMlss efleurfl.

(On)

b.  Write the six generation of switching technology.

Switching Technology-esr Dsmi eweoipemmsmeT 61ips;s.
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12 a.

13 a.

14 a.

Discuss the client-server structure of the web.

Web-ssr Client service structuress L efleungssayb.

(©r)

Explain the e-cash

e-cash upm efleurfl.

Explain any 2 EDI applications in Busingss.
EDI application in Business upm gGsemib Snesor® L) efleur.
(On)

Write the advantages and disadvantages of MIME.

MIMEs# Benmasit oM. @GewmEEmeT 61W&IS ?

Write short notes-on Internet addressing.
Internet addressing umm AmiGHili cuewps.
(Or)

Explain the shell accounts.

Shell Accounts upn fmi GO euenrs:.
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15 a. Write the variety of actions on a web page with Java Script.

16.

17.

18.

19.

20.

Java Script e_Leir Webpagess mLé@1b LieGeaum) Gaueneosensr 61ipg)s.
(Or)
Explain the Cookies.
Cookies umbm efleufisaeyLb.
Part-C (3x10=230)
Answer any three Questions.

What are all the equipment to accessthe-network ?

Networkez access esuw 2 LGwnéliug) ereeor ?

Write any three technologieshehind the web.

Web-str Qstrypib 2_sitet aGseb 3 technologies upm ewsis

Discuss about Data\Warehouses

Data Warehouses uipn erapsis.

Explainthe.webpage protocols.

Webpage protocol umn efieurf.

How can you use Java Scripts for Forms ?

Form-eo Java Scriptes ersueunmy 2 LGWnsLILGSS UM 2

*k*k
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AF-1520 BCC4C2

B.Com., (C.A.) DEGREE EXAMINATION, APRIL 2010
Fourth Semester
Commerce with Computer Applications
VISUAL BASIC PROGRAMMING (THEORY)
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 60 Marks
Part-A (10 x 1/, = 15)
Answer all the Questions
1. How canyou delete a control ?

Controle esusunm delete auieumis?

2. Write any three font characteristics ?

aGseb epeiimy Font Characteristicse ewsis 2

3. Write the Syntaxof Format Function.

Format Functionesr Syntaxez enwss 2

4. Write the Syntax of Queryload event.

Queryload eventsst Syntaxez enwss ?

5. The Keyword publiciscalledan..............ccc.......

Public estrm Keyword ............cceeveeee 6B HEDDSSHILBASTDE.



10.

What is an actual parameter ?

Actual Parameter etsstpmed erstresr 2

How can you select the flex grid control ?

Flex Grid controle esueunmy Gsiey O ieumis ?

List ouf the events and methods for grid controls ?

Grid controlesr events wimb Methodez enwsis: 2

Write any 5 tools in the standard toolbar ?

Standard toolbareb 2_sirer gGsemitd 5 t00IS g2 e1gpss 2

What is a header ?
Header eistrmmeb ersirenr 2
Part-B (5%5=25)

Answer All the Questions.

11 a. How canyou start a new project ? Explain the opening screen.

New Projectes ereueunmy Start eswieumis ? Opening screen wmn efleurf 2

(On)

Explain the common form properties.

Formesr eungieunesr Propertieses sfleufiéseyn 2
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12 a. Write about the VB Variables.

VB Variables upn erwss 2

(On)

b.  Explainthe Rich Text Box with examples.

Rich Text box um 2_smews giLeir efleuféseayid.

13 a. Discuss about the one - dimensional arrays ?

One dimensional array ubn) efleurfig;seuib.

(On)

b. How canyou use the listand arrays with functions and procedures ?

Function wpmib Procedureser List wpmub Arrayse eeueurm

2 LGWNSLILEBSGHeuTll ?

14 a. How canyouAdd and Remove the controls in an control Array ?

em Control Arrayse» Controls ersueunm GeiLg) whmib Bé&eug ?

(On)
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b.  Write the general properties of the flex grid control.

Flex grid controlest ewungyeunser Propertiese siwsis 2

15 a. How can you modify report title ?

Reporteir Titleg ersueummy ombmyeumis ?

(On)

b. Explain the Header and Footer.
Header wpmib Footer upm efeufiéseyb 2

Part-C (3x10=230)
Answer any Three Questions.

16. Explain the properties of Command Buttons.

Command Buttonseir Propertiese: sfleufigseyLb.

17. Write short notes on the printer object.

Printer object upsd &im) &MILI suems:.

18. Briefly explain the function procedures.

Function procedures ubn efifleuns eiwpsayb.
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19. How can you sort a grid ? List out the possible values with

Description ?

Grides esusunmy SOIt eswieumis ? Sigetr iy a1ws, efleulaseayb ?

20. Explain the stepsto creating a report with a data base:

Database o_Leir reports swnfiéeid eufapewmenw 61 is.

*k*k
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AF-1521 BCC4C3

B.Com. (C.A.)) DEGREE EXAMINATION, APRIL 2010
Fourth Semester
Commerce with Computer Application
ADVANCED ACCOUNTANCY - IV
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x 2 =20)
Answer all the Questions

1. What is contract account ?
RUILITHGE SHETTEES 6TEOTDITEO 6T60T60T 2
2. What is meant by work certified ?

gnetiperlissLILIL L GeuemeD eT6dTLISES EILIMBET WIS ?

3. What is minimum rent.?

SODHS6ITEY &5FH6ENS ET6TTMDITED ETE5T60T ?

4. Define short working

GWD 2_HLSES - UeDTWIT).

5. What isHire-purchase system ?

QUL 60&E CIGTETLPEHED (LPEWID ETEITMITED 6T65T6NT ?



6. What is Cash Price ?

6\I&:3 6516060 ETEOTMTEV ETEOTENT ?

7. Who is fully secured creditors ?

WLILN6n6wTs SIS eredTLIGUIT WimeurT ?

8. What is meant by statement of affairs ?

1BemevemLD 6M6UITLD 6TEITLIS 6T EWT(HEIT WIMg) ?

9. What is Independent Branches ?

SevllSBIIBIGLD SEMETSHET 6TESTMITED 6T6DTENT ?

10. What is Inter-Departmental transfer.?

HIDDESEHEHIEOLGW FI8@ LDMMMLD 6T63TMITED 6T60T6ur 2

Part-B (5x5=25)
Answer all.the Questions

11 a. The following was the expenditure on a contract for Rs. 6,00,000.
Material Rs. 1,20,000; Wages Rs. 1,64,400; Plant Rs. 20,000,
Business Charges Rs: 8,600.

Cash received amounted to Rs. 2,40,000 being 80% of work
certified. Materials on hand at the end of the period was Rs. 10,000.
Plant’s to be depreciated by 10%. Prepare the contract a/c.

¢h. 6,00,000 sflemed O\EHMEHIL R(H RLILHSSDHE0 SLDHEWIL E1FE06)SH6iT
ETMLILL 68T eLPeOLIOWIMBST erh. 1,20,000; 8a6d ¢h 1,64,400; SUIBHILD erb.
20,000; el g 15606 ¢ 8,600. ansiieflEaLLILLSed 80% Sps eb.
2,40,000 6n&sLbnaLl QLDLILILL ). &Ted (Lplgeflled erh. 10,000 LoLIL|6iTerT
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12 a.

epeoLl QIMBeT SHLILN6O 2 6Tors. SubBSrs5SHS 10% GgUIbreid
RFIHSHELD, RLILIHGSE HEWISHSS SWMHSSaLD.

(On)

How would you treat profit on Incomplete contracts ?

PprRaMLWLTS QRUUFSHsHSeTeT Wgnenm QeorusHenem ereusumm)

S600TSHSBEUMLI ?

A colliery is leased to National coal Syndicate on aroyalty of Re. 1
per tonne on the output. Aminimumrent of Rs.:60,000 a year and
allowances for shortworking are to be recouped within five years
ofthe Lease. The coal actually raised in aseries of years is as follows:

| 'Year I1'Year 111 Year IV Year V Year

Tonnes 8,000 10,000 18,000 28,000 14,000
Draw up royalty a/c., land lord’s a/c.
B Boodssl BDIGTS ST G FITHESDS GHBTEHS TBSST. 2 fkvins
C\BTENSLITS L60T Q6TMISHE eh. 1. [Bietnud QFULIWILILILB6Teng). &ennhd
L& euMLens euBLESBDS eh 60,000. Gewm 2_hLisHemwl I GLb 2_flenp
LPS6O EIHG| QUIBLIBISEHES, 2-6T6I6dl. (LPSH6D EHG DhewTBaerflsir 2 MLisd
efleuribd :

| @y | Y (C) Hl opaime 1V Speioe V Speoi®
8,000Ler 10,000 Lest 18,000 L6t 28,000 Leétt 14,000 L6dT
2_rflemips 615 Mems: &/, [BE0SHLDNT &/& SUIMT O\FUILIOYLD

(On)

Ramu took a lease of mine for a period of 20 years. Royalty is Re.
1 per tan'subject to a minimum rent of Rs. 12,000 p.a. The short
workings are recouped during the first 3 years of lease. The output
was 2004-Nil; 2005-4000 tons; 2006-20,000 tons and 2007-
40,000 tons. Prepare analystical table.
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13 a.

I R SIHRSESMS 20 SHEBHEDHS GSHSWHHS 1RSI 2_6TT6rIT.
2 _fewips OFTWs Qb LETENHS eh. 1 615D GOMHS LILEF QuTLens
Sp(BES 6. 12,000 L6t 61601 61BH5IS O&MeTTLILGEDS. SDDBS
2 Huss PO apetim SbewrBsefleo HpUL LD  CUMS
WL @etengyl. 2 Husd eflumbd : 2004-NIL, 2005-4,000 L,
2006-20,000 Lsir, 2007-40,000 L6iT 6flen&aLILILIQUID Q6iTemMS

SWITT Q\FUIS.

Maheer Purchases a car on hire purchase system:-The total cash
price of the Car is Rs. 15,980. Payable Rs. 4,000 down and 3
instalments of Rs. 6,000, Rs. 5,000, Rs. 2,000 payable at the end
of I, 11, 11 year respectively. Interest is charged @ 5% p.a. You are
required to calculate interest paid by the'buyer to the seller each
year.

LDEIT 6TESTLIGUIT GUMTL 68 EISHIT6ITLPE60 (LPEWMUTED E(h SITIT E1BH6ITLPE60 EIFUISHTIT.
6\IDN&S C\ITE:S 6flewev . 15,980. RUILIESSS60T BUMZ) (LPEIT LISTITLDITS ¢1b.
4,000, Bgepsitar O1FMems 3 Heuenernrserlsd (pedMBW ¢H, 6,000, eb.
5,000, ¢b. 2,000 6liglb OFQSSHLILIL 2 6Tergl. euLlp SpeTBsH& 5%
SoSELLILGBSDE. GLhaaurL eNUImiGmeT O&Ter® GILIQWITS
C\ETETAPSED OIFUILIGUIT 6T6U6UEITR] 6)FEYSEISETMDITIT ETEITLIENS SH600TSHHBS.

(Or)

A car was purchased-on 1-1-2001 for Rs. 75,000 agrees to pay
Rs. 15,000 downand balance in 4 equal instalments of Rs. 20,000
annually. Calculate interest for each year.

1-1-2001 SiedIm| R ST eh. 75,00065@ QMG RIS O\STeT®,
©_L wTIQUIS: ¢1h. 15,000 (LD LEHemIL 4 FLD Gewememrgeried eb. 20,000 efigid
SHETTEITETNIES 6156315 eTDHLIMGB OVFUILILILILL G REUESU(H QUL SSDSLD
QUL IQEMULI B600T BB S.
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14 a.

15a.

With salaries due Rs. 2,000 to 4 clerks for a period of One Month.
Wages due to 5 labour Rs. 750 for a period of Five Months. I.T.
due Rs. 2,000 and rent due Rs. 1,500 for a period of 3 months.
Calculate the Preferential crs under presidency towns Insoluency
Act.

(B LDTSSSENS 4 61(LPSSIT5E6H &S FLDLISTLINEES eh. 2,000, 5 LDNSHISEHHS
5 gaedlwneni gaelunsd ep. 750, eudponemeufl uTeEd eh.. 2,000. 3
DS MISHEHES EUTLEWS Lié:d eh. 1,500. LDMBED [EEHNTHISE SeUTe0T &L L5605
Lig (pesTen)flenLos: SeTuTLevihCBMTSHem6rTs HETTHSBE.

(On)

Explain the list A, B and C is statement of Affairs.

B8 Bemev Sinfgemauded LILIQUI6D 67, L opmILD. Aufleneor sfeurfl.

There are 5 depts in a concern. The total indirect expenses amounted

to Rs. 12,000. One sixth of expenses are to be divided equally to

all depts. The remaining expenses are to be shared in the ratio of

sales. Sales of various depts were as follows :

DeptsRs. A B C D E
50,000 . 40,000 30,000 20,000 60,000

Show the allocation of indirect expenses.

R BIsUETSESe0 5 SIMMSET _6iTET6nT. CILDMNSS LDEDMAPSHE 5\FE0EFHEIT 6Ib.
12,000 @860 SpMled (h LIMIG 616060 HIEDMSEBHSLD FLODMSHEYD, EHE
615606 S61T Glemmasstflett efihLiemestaserfletT SHieLi iemruded LNflsasLILIGSetTmesT.
slenmserilet efiDLIenetTS6iT Ll6tTeau HLDMTDY.

SI6OD ¢b. A B C D E

50,000 40,000 30,000 20,000 60,000

LDEDM(IP&HE 61F6E06mE FIEWMSHEBHGL! LI5S ST Bs.

(On)
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b.

The following information relates to Madurai Branch

Rs.

Stock on 1-1-2004 11,200

Branch drson 1-1-2004 6,300

Goods sent to Branch 51,000
Cash Sent to Branch for

Rent 1,500

Salaries 3,000

Petty Cash 500 5,000
Sales at Branch

Cash 25,000

Credit 39,000 64,000
Cash received fromdrs 41,200

Stock on 31-12-2004 13,600

Prepare Branch a/c for the'year-2004.

LoglemTs Hemeruiledr eNLITRIGET SLDSHSHETTL UMD 66N,

.
spadmiy 1-1-2004 11,200
Sewenuisit sLevrmerflaer 1-1-2004 6,300
Seeés LI 156G 51,000

Bemerns@ SenIl O\TESLD
AUTLEDS 1,500
SLDLI6TLD 3,000
evsvem eipmaasd 500 5,000
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16.

Beweruledr eNHLIeme0T

Q\IM&ESHLD 25,000

&L 65T 39,000 64,000
sLevmefisefILLD 61bHM E\INSELD 41,200

spadmiy 31-12-2004 13,600

2004651601 HEn6NTs HEHMSES SIS

Part-C (3x10=230)
Answer any three Questions

The following particulars related to a contract undertaken by Ajit
Engineer. Materials sent to site Rs. 85,349; L abour engaged on site
Rs. 74,375; Plant installed at Site Rs: 15,000; Direct expenditure
Rs. 3,167; Establishment charges Rs. 4,126; Materials returned to
stores Rs. 549; Work certified Rs:-1,95,000; Cost of work not
certified Rs. 4,500; Materials:in hand as the end of year Rs. 1,883;
Wages accrued due at the endof yr Rs. 2,400 Direct expenditure
due at the end of Year Rs.240; value of plant at end of year Rs.
11,000; The contract price has been agreed at Rs. 2,50,000; Cash
received from the contractee Rs. 1,80,000.

Prepare contract a/c.and-balance sheet of the contractors.

Sids auMlwmeTiasT eTBsHE GBIl QUILIHGLD FLDLIBSLDT6N eMLITHIS6T
NesTeuqHLONM) :

SoUILSSDG aMBISLILLL FISSS6T b 85,349; SmLULILSSH 60
GeuemeDILITET 61F606Y ¢h. 74,375; SHLLILSS60 BmieuliLL. SermeurLLd emb.
15,000; Gmrips e\Feva|sH6T eh. 3,167; [Bmieuets a\Fea|g6T . 4,126
FI&HG &6 SLHBDG HHLIwg ap. 549; FreimeflsaslLrL Liewf epb.
1,95,000; FnetiperfigsLILLTS Liswflufes SH&seMened eb. 4,500; EIHGSS6T
emsUNBLIL| udhL (pigsilled 1,883; aubL pigefled AETBLL Geuetorowl a6l erb.
2,400; euLpigeiled Q&TELL Geuetorioul Grbmied 61F606) eh. 240; ubL
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17.

18.

Wpigsfled GemeurLLb Lo 1| erh. 11,000; FLDDEHGS RUILIBG 6flemsv ¢rb. 2,50,000;
RUUBSD JHeflgsaMmEnhga OUDLILILL LewTD eb. 1,80.000.

RUILIBS SHEVTSHEMSLILD, SBLILIIBemevs: GMLILN6D LIS SHEWOTLILD, SLILIBSESSTIIT
aIBserlled SWIMT OIS

On 1-1-95 Atook a lease from B for the sale of Locks. Royalty at
Rs. 5 per lock subject to a minimum rent of Rs. 50,000p.a. Right to
recoup with in 3 years. No. of locks sold were 1995-8000; 1996-
9000; 1997-11,000; 1998-18,000. Prepare i) Royalty a/c
i) B’s a/c.

1-1-95 Sistimy B uiLf\mmba1 L Gaeim 615115 sfih@&ib 2 Mewioenwt A eresrLieurt
QWO 2_MewLDs; 615TenE: Ll B RESTMISE eh. S 615D GEnMHE LIL& 6UTLEDS
SNBSS . 50,000 G 2 HLSH epeimI ShstorB&eriled QLIMLUILIBLD
efDSLILILL Lpl-B&6T SpaubLomm) : 1995-8,000; 1996-9,000; 1997-11,000;
1998-18,000.

) 2_fewios; E\FMems &/&. b Bulleir &/& swnit 6\&uis.

Kamala purchased a truck for. Rs. 1,60,000 from Nagappan on
1-1-93 payment was to be made Rs. 40,000 down and Rs. 46,000
at the end of Ist Year, Rs. 44,000 at the end of lInd year and Rs.
42,000 at the end ofdltrd Year. Interest is charged 5%. Kamala
depreciates the truck @ 10% on written down value method.

Kamala after having.paid down payment and the Ist Instalment and
the end of the Ist.yearcould not pay IInd Instalment. The seller too
possession of the truck and after spending Rs. 4,000 on repairs of
the asset sold.itaway for Rs. 91,500.

Give the ledger a/cs in the books of both the parties.
&LD6oI BSLILEILIBHS R lpré @etiilenss eb. 1,60,0008@ 1-1-93
SN QAUTHIGSETDNT. 2 _LewTieWing eh. 40,000 pLD, (LPS60T6ToTIQedT

BmnBuTev er. 46,000UpLd STETOTLITLD Dhevorigedt SmiBuled erb. 44,000¢pLD,
epsiipMpTeinr® SmBuTed eb. 42,000(pLd 1TSS SLDLDSSHRETDIMIT. QULlQ
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19.

5% 61$&&LLEL. SD6oN RI&Hems 10% SMDHE 61560 G5 UILDTESH60
&6V SHBBEITDIIT.

SLDEVIT 2_L 6075 E\STENSLLLD, (LPS6D SEUEHETIS EISTENSIILD 61569|85SIBESTDIMIT.
Seugneo || seumemrenw OFa65s5 wWipwelleoemeo. eflHLemeTwmanT,
SLDeoMEAL LO(HHG 1eI8:6ns 1(BSHGIH SSTETHETDMT. SHeUT HFOFTSH D6
@h. 4,000 LWGHUNTLIL QO&6v6] OFIISH HEOSTHMS ah. 91,5006
s esTDHT.

BmeaumenLil sTBS6rfled auHd GLIGTL(BS SHetT&Henad SUIMT.E\F IS,

Mr. Ilango is insolvent. He supplies you the following information as
on March 31, 1999.

Crsforgoods Rs. 52,500; Salary due Rs. 700; Taxes due Rs. 2,100;
Bank loan secured by lieu on Stock (B.V. Rs. 35,000) Rs. 17,500;
Cash onhand Rs. 100; Furniture (Expectedto realise Rs. 3,500) Rs.
7,500; stock (Expected to realise 60%) Rs. 52,500; Book debts
(good) Rs. 7,000; Book debts (doubtful-expected to realise 40%)
Rs. 17,500; Bills Receivable (Rs.. 5,250 bal) Rs. 8,750; Bills
discounted (Rs. 3,500 bal) Rs. 10,500; Loan from Mrs. Ilango Rs.
17,500.

Mr. llango started business 6 yrs ago with capital of Rs. 43,750. He
drew each year Rs. 8,750 for private purpose.

Prepare statement of affairs and deficiency A/c. of Mr. llango.

Bb. BohICHT Seureon el LT Lomie 31, 199960T Lilg 65657 6u(HLD eAlLITThISE0m6T
SBBDIIT; OWINHETSHEHSSHTS LGS eb. 52,500; FLDLI6T L& eh. 700
auflse UT&ES ob. 2,100; @6 g Lhmflend 2 eter eurhifs sLebr
Ussswdlfev-ep. 35,000) ep. 17,500; aOgnss LY eh. 100;
LDEMEBISSIEWEMTLT EIIMIHETSHET (EIHTLMTSGLD Lsword eb. 3,500) eb. 7,000;
FISSELIL.ESTUNTSSLD LIswTd 60%) ¢h. 52,500; L|§&665L 6T ([H60606n61)
¢h. 7,000; L|55666L 65T @UILILITG - eITUMTSE@GLD LIswrd 40%) eb. 17,500;
IONIFFEG . 5,250 eunng) eb. 8,750; aULLLD 6\FUI5 MHNIFSLG Emb.
3,500 eunng) eb. 10,500; HHod QenmiCGaneflL sl pba sL6iT eb. 17,500.
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BB BEMHIGSHT ¢ 43,750 (PSS BLEI 6 Sp6eTBHEDHES (LPEST eAwImIMILD
gleumSeni. O1&NbHS 2 LBWNSESSDHsTs ReuGaIT Sheu@D ob. 8,750
@SS S, FemiGanefleit BHBeme JiNT&mEUT6iT LIHMTGEDM SHETTTSHDS
SBLD.

The following purchases were made by a business house having 3
dept.

Dept A- 1000 units

Dept B - 2000 units at a total cost of Rs. 1,00,000

Dept C - 2400 units

Stock on 1st January were : Dept A - 120 units; Dept B - 80 units;
Dept C - 152 units. Sales were : Dept A-1020.units @ Rs. 20 each
Dept B - 1920 units @ Rs. 22.50 each; Dept C - 2496 units @ Rs.

25 each. the rate of G.P. is same in eachCase. Prepare Departmental
Trading Alc.

PN HIEMMBEM6T CIHTEITL 6(h, euewolla: BMIGUESID, C1&MT6T P, 60
SLpSaerTLeITn) O\FUISTDE.

gleom A - 1000 SeoGs6it

gleom B - 2000 Sieo@se | OWwngs wdii em. 1,00,000

gleom C - 2400 Sieo@ssin

epedim) Glewmaelssr 1 evreufluliesr rsmUL : Glewm A - 120 HeoGa6T
sleom B - 80 SiwgasT; gieop C - 152 Sieogse. sfibuene : gieom A -
1020 Sie0Ga6T PeueeuTsnId eh. 20 efgb gieonm B - 1920 Jew@ser
PeOEITeTMILD e 22.50 6figib gleom C - 2496 Sieo@a6T @eueeunsmid
eb. 25 6ligid.

epeiTm) Slemmaerilsdt EILDITSS 60U 611BSLD R65TEM. glemmeurifls: semrsSenes
SWIT O\FUIS,
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AF-1511 BCCIC1

B.Com. (CA) DEGREE EXAMINATION, APRIL 2010
First Semester
COMMERECE WITH COMPUTER APPLICATIONS
ADVANCED ACCOUNTNACY -1
(CBCS—200 Onwards)

Duration : 3 Hours Maximum : 75 marks

Part-A (10x2=20)
Answer All Questions.

1. What isdouble entry system?

SurenLL Life) (LpemM 61656 6T63T60T ?

2. Define Trial Balance.

SLLmiie) - eenrwim).

3. What is Error of Commission?

6\F U1 LNemLp eT6ITMITED 6T6DTERT ?

4. What is Bank Reconciliation Statement?

U1 &fla L (BLD LI QU 16D 6T63TMITED eT6dTenT ?

5. What do you understand by written down value method?

GBS 61&60 OSLIL| (pewmuileomest GUILDMeTLD GM&E! 1B Sinfeug eretrewt 2



10.

11 a.

What is suspense account?

SIEVTMDE G| H6WTEHE 6TGITMITED ET6ITEDT ?

What is balance sheet?

B LI Bewevd; GMILIL| 6T65TMM6D 6T6dTEDT ?

What is Income and Expenditure account?

SUIHEUMUI 6156065160T &6T0THG ETEBTMITED 6TEITETT ?

What is Fire insurance?

& &MILI® eT6dTmITeD 6T6TENT ?

Define Ledger.

CuGI® suemIwim).

I
il
.
V.
V.

Vi.

Part-B (5x5=25)
AnswerALL Questions

Journalize the following transaction:

Purchased goodsfrom Mohan - Rs.2,000

Sold goodsito Chandran - Rs. 2,500

Cash received from Chandran in full settlement of his account.
Paid cash to Mohan - Rs.1,000

Paidwages - Rs.250

Paidrent - Rs.250

2 AF-1511




SLDESHETIL [BLOUIQSHDEHSHEBEHEHE (LPSH GSHILIGLIL® LISeSH6meITs &(Hs.
3) GwnaneflLsl[Eb FI15E& OSMETIPSHEd OEUISHSI oh. 2,000
D) FHATWIES FTSHS DD erb. 2,500.
8) spIrelLIfBBEE et sHersdanen CHITOSUISH OIM&HSD QLDMSI.
m) Craness O&TBSS OImSsLD eb. 1,000
2) &6l &sN1BsssI eb. 250.
2an) QUTL6WS OSTBSHSS . 250.

(On)

b. Fromthe following balances prepare a trialbalance:
Babu’s capital account - Rs.55,000
Loan from Bharath - Rs.5,000
Plant and machinery - Rs.15,000
Cash at bank - Rs.5,000
Buildings - Rs.25,000
Sundry debtors - Rs.20,000
Sundry creditors - Rs.5,000

SpsaeuL SmLILseedlBhE SmLILF CFnsenereniLs SWilss :
uIMLef63T eLpeVS6BTLD - ¢h. 55,000

UTSSLLD LDD SL65T = eb. 5,000

SWwrkSILD HMID ST EUEDSHSEIT - erh. 15,000

aurnId O\IM&&LD - ¢h. 5,000

&LIQL LD - ¢h. 25,000

sLeverflaeit - erh. 20,000

SLeABOSMIT - erh. 5,000
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12. a. Rectify the following errors by passing journal entries:

I

il
.
V.

The total of purchase book is Rs.1,000 short.
Furniture purchased for Rs.800 debited to purchases account.
Carriage on machinery debited to carriage account Rs.510.

Amount of Rs.1000 paid to Balakrishnan entered in
Ramakrishnan’s account.

SLpsaetrL LNenpaener GMILIL| Lifefedr eLpsold HEHSHSLD OGS

S) OEMETULPS6D LIGSSLD eh. 100 Gemmeuns sal L LILILBeTers).

S} LDEMES GIEWEWTLI OILIMIBLEST QUMRISWS ah. 800 Q&T6TAPS6d

[y

?

SHETERE0 LibG] e06USHSLILILB6T6rg).

BubBn5Se L5g) cueTtTE FSSLD oIb. 516)60TIeE 551D Hevts:d60 LIDM)
EOeUSSBLILIL (B6ITONTE).

LIT608([h61Q6mTEn)I&&E 1TSS erh. 1000 DLDE(HEIQETIT6IT SH610T8:$60
SISLILILL &

(On)

b. From the following particulars prepare Bank Reconciliation
Statement.

V.

Bank overdraft as per cash book Rs.5,000.

Cheques sent infor collection but not collected and credited
Rs.600.

Bills discounted dishonored debited only in the pass book
Rs.1,000.

Insurance premium paid by the bank but not recorded in the
cash:book Rs.150.

Bank charges of Rs.20 entered in the pass book twice.

ECp Qan@ssLLLBeTeT efleurmisellelhba @b UBISE 56006

&flésL (BLD LI 1gena SWIMT O\FU1s.

S) OIN&s; eIl Ig6dTLIQ eurkid GLD6L euemILILIMHMI S(BLIL eh. 5,000.

S ARSEHEES LN 6ugENSSLILILIS STECEFTEn60&EIT erh. 600.

4 AF-1511




13 a.

8) sfley QFLWILLL Syeurmed MISSLILLL MHMF FBHSL! LIewId
61560B60L 196 LDL (BLD LIDHM| eMeUSSLILILL )| eb. 1000.

M) euaBuned OsMGHS SMLUISLEG (PEmESIDD CIT&HS 6ILIgsd SeiTenib
uBWILLASS] eh. 150

2) ekl SLLewID h. 20 6FOGeOLIREd aHpdDH L6
QFIILILIL BeiTerg).

Mrs.Seetha and Co. purchased a machine for<Rs.22,000 on
1t January 1992. The estimated life of machinery is 10 years,
after which its break up value will be Rs.2,000. Depreciation has
to be charged at 21% on the diminishing balance. There was an
addition to the original profit on 1st January 1994 to the value of
Rs.4,000. You are required to prepare machinery A/c for the first
three years.

1992 gevreurfl 1 SietTm) EHT SHevT® CaT. RIT BUWIHHTHEMS 6. 22,0008
C\EMETAPSEO OIFUISHI. ANSHEDIDLU IPTLIMTSSLD 6umpey 10 SpeorBs6T
DL BLD 56T L6t ANGeniemL Ul B IS IL| er. 2,000. 21% GSUILDTEDTLD
GSOOBES 1560 SN HeTESLILGSDS. Goayb Ferauf 1, 1994
§.(B56018 QT BWIHAILD eb.. 40006 aMaSLILGEDSI. Sp&G6 (LpSHed
ELPETM)| SheTOTBSHSHTET SBIBSTS SH6MTS608 SWIMHSSELD.

(On)

. Anasset is purchased for Rs.25,000. depreciation isto be provided

annually according to the straight line method. The useful life of the
assets is 10 years and the residual value is Rs.5,000. You are
required to-find out the rate of depreciation and prepare asset
account forfirst 3 years.

¢. 25,000 &LILieTerT [Benevd 1§ TS S)I 6TM)] E1SHT6TLPS60 \SFWILILILIL LS.
Beunnilett L5g)I [Beos seuementr pempuileo Gauimentid efaaLIL LS. Sbs
O FTSH6T pWLsTevlD 10 SheToTBSH6T. Beubmlesr L5g) LI eb. 5,000
Gsuinre eflB55ms HaeHBs. G HETSE HETTHSET (LPSHED
CLPEITM)| Db ETT(BEEHES SHETTEHESL YLD,
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14 a.

Prepare Trading Account of Anand for the year ended 31.12.2007.
Opening stock - Rs.40,000
Purchases - Rs.4,30,000
Carriage inwards - Rs.26,000
Carriage outwards - Rs.5,000
Wages - Rs.12,000

Sales - Rs.7,20,000
Purchases returns - Rs.5,000
Sales returns - Rs.18,000
Salaries - Rs.15,000

Rent - Rs.7,500

Closing stock - Rs.50,000
31-12-2007 2_L63T (PIReUsHLUILD DTN ShesTbdedt eMwImLimy
SeuTSSement SHUIMflas.

gloussg FIsSLIL - eh. 40,000
E\&TETAPS6D - 1. 4,30,000
2_6T515:@ &a.60 - eb. 26,000
Geuelignse gaedl - ep. 5,000
8660 - ep. 12,000

sfibuement - e. 7,20,000
C\&TEMAPSH6L STBLILILD - . 5,000
sflhLIement HBLILILD - erp. 18,000
&LDLIONLD - ¢1h. 15,000

6UML6MS; — ¢h. 7,500

8miB FI&S LI - eh. 50,000

(On)

. How would you convert a receipts and Payments account into

Income and Expenditure Account?

OUMISEL CIFYHHE0 HEMTSHEHENET 6TEUAUTM| CUTE| 61F606) SH6ETHSMS
LDmHmyeumut ?

6 AF-1511




15a.

Afire occurred at the premises of a trader on 31.5.2004 destroying
a greater part of his goods. His stock on 1.1.2004 was Rs.15,000.
The value of stock salvaged was Rs.3,375. The gross profit on
sales was 30% and sales amounted to Rs.38,250 from January to
date of fire, while for the same period the purchases amounted to
Rs.25,875. Find the amount of claim to be lodged.

R uenilaen QBMLA6D eueasHed 31-5-2004 Sistim) SLiNigs g, HHeo
OLUGBLUGDHEF FI6GHT AHPSSLILLLET. Heugg 1-1-200 AHetrmy
6B LI 6. 15,000. SuledEH&l snesliuLrL Fr&deir LI . 3,375.
eunggeonu efdaid efibLenenr L5& 30% HMID sevreurl wpHed & LNgs s
Ga8 euemnuleomesr eflDLIEWEDT ¢h. 38,250. HEG HTELSHEO C\HT6TLPSE0
o, 25,875.

&M@ @i ehans Gaiaemnad 1S TEnSEnIIS SHT6Hurs.

(On)

. Afire occurred in the premises of a merchant on 18" Sep. 2004

and stock was destroyed. Stock saved was Rs.8,200.

The books disclosed that an 1st April 2004 the stock was valued
at Rs.66,850. The purchases to the date of fire amounted to
Rs.1,85,000 and the salesto-Rs.2,82,500. Goods costing Rs.500
were taken for personal use and goods sold for Rs.2,500 were
returned to the merchant. Average G.P on cost was 25%.

Find out the claim amount.

@ ewmuniuies seLufed 18 Qg 04 M G & ahULG FI6HS
SNBSS SMLULTONIW FTHS eh. 8,200. 1-4-04 6N 515& DSLIL
¢h. 66,850. & eflusgleuemT O\&M6TLPSHEL ¢h. 1,85,000. efihLiement
eb. 2,82,500. ¢b. 500 SLIL[6TeN FT&HS 615MHS 2_LIGUINTeESSHNE a1B5815
Q& MemenILLLG). eb. 2,500 WaLiLjeTer §1&6@ efhLenest HpbUaLmL
LI'L§)I. 6)DTSS60IMLILD SHL &&6flemeouilsd 25%.

2_rflemip&BsMIed 615 MenaHemiLl STesurLilesea]LD.
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16 a.

17 a.

Part-C (3x10=230)
Answer any THREE Questions

What are Accounting Conventions? Explain.

SHETTEHBIIEDO [HENLLPEDDSHET WITEn6Y ? 65168 ES8.

(On)

. State the uses and limitations of Accounting.

SH6TTESUIE 60T [FESTEMLDSEIT LDHMILD GEDDLINBSHEDEIT Sam)s.

The book of Suresh did not agree. Thedifference is debited to
Suspense A/c. Rectify the following errors and prepare the suspense
account.

1. Goods taken by the proprietor Rs.75 has not been entered in
the books.

i. AsaleforRs.430 to Kumar has been credited as Rs.340.

ii. Old furniture sold for.Rs.540 has been entered in the sales
account.

V. A purchase of Rs:400 from X has been entered in the sales
book. However X’s account has been correctly credited.

V. The total ofthe purchase return book Rs.210 has not been
posted.

&@r6ip L|558LD erfluimest SpLiemLS & L efleosms. 6llGSUITEFLD SI6UTLDS 15

s H6d, LDM eweusasliur@erengl. Nerau@m Nenpsemer H&S

SIEVTMDS G| S0 SLIMT&HESHELD.

3) e=flemwwinemi e1BSG1ISH O\ETETIL OWIMBET eh. 75 H6W15E eTB&H6riled
LUSaIns6fedenev.

S GLTHSS ADOME eh. 430 e SHesHeo 340 66w oUTeY
EOeUSSBLILIL (B6ITONTE).

&) uewpw Gweng, BNH&TES AHMG h. 540 efhLenesT SHevoT:SH60
udeunSwig|.
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18 a.

M XWLobg &56& eunmmudwg ob. 400 eflpuenes eLiQed
udeundwjetengl. SmHs CUTSID e seausder sflung ey
OEUSSLILILL G-

2) Q&EMETAPSHEL HIHLIL L IR6HT Fal B O1STENs erb. 210 eTBSHSILI LSWILILIL
6fll6bem6D.

(On)

. Prepare a Bank Reconciliation Statement as at June 30, 2007.

I. Bank overdraft as per cash book Rs.1,10,450.

ii. Cheques issued on June 20,2007 but notyet presented for
payment Rs.15,000.

ii. Cheques deposited but not yet credited by bank Rs.22,750.
iv. Billsreceivable directly collected.by-bank Rs.47,200.

V. Interest on overdraft debited by bank Rs.12,115.

vi. Amount wrongly debited by bank Rs.2,400.

30-6-20071D [Bensitenmil 61k FflaL BLD LIL1u 16D 65Temn SWIMTil&hs.
S) 6WNSa enligedt L GLoedeusmILY LiHM) 6. 1,10,450.

S} ersit 20, 200760 lBSHE HTCEFTENEOS6IT LIGWILDMESSLILIL TS 6D
¢rb. 15,000.

8) arsdwu snGenepeseT h. 22,750 Qeiamd euriBuied
UbmiemeusaLILIL 6fledenev.

m) GeoeuemgliLipmlen Wgmerr eullp ob. 12,115 eurhiBwmed LHM)
OOUSSLILILLE).

2) seUDNs IRISLITE euTe L ILISHuNed LSWIILLLS) eh. 2,400.

Company whose accounting year is the calender year, purchased
on dst April 2005. Machinery costing Rs.30,000. It further
purchased machinery on 1% Oct. 2005 costing Rs.20,000 and on
1t July 2006 costing Rs.10,000.

On 1% Jan. 2007, 3 "t of the machinery which was installed on
1st April 2005, became obsolete and was sold for Rs.3,000.

9 AF-1511




Show how the machinery account would appear in the books of
the company. The depreciation is to be charged at 10% p.a. on
original value method.

STEOSTTLIT BITLSENeTCW B SpewILTSHS OSTIL @b [BmIeussTLD
1-4-2005 Sist1m) erh. 30,000 &L ILjsTem SWIHSILD RESTM| O\SHMETAPSHE0
OFUISE. 1-10-2005 JiedTn) LB6GoTBLD eh. 20,000 WdLIL|6Tem SuibSILd
Q\BITETLPEHEL QFUILILILILL &) S| S6AlT gremed 1, 2006 Ssbim) eb.10,000
LILjsTeT SUIESILD \SMETLPS60 SFUILILILILL &)

1-1-2007 Sist1m) eLpedTfled 6 L@ LLiLjeiTer (1-4-200560 aunThiSg)
M BubSIb epsasThbs Gumi el Beveouled Sieupenn
. 3,0008@ efiDLIemest QFUILILILILL &I GHUILDITEUID Sb6eToT6ILMesTIDES
10% 6figLb L5 efleneou|Ld serraBLLILIL B6TerTg).

BubSr 5/& R6TM) SWIMT O\FUIS.
(Or)

. A second hand machinery was purchased on 1.1.90 for Rs.30,000
and repair charges amountedto-Rs.6,000. It was installed at a
cost Rs.4,000. On 1 July 1991 another machine was purchased
for Rs.26,000. On 1st July 1992 the first machine was sold for
Rs.30,000. On the same-day one more machine was sold for
Rs.25,000. On 31.12.92 the machine bought on 1 July 1991
was sold for Rs.23,000. Accounts are closed on 31 December.
Depreciation is written off art 15%p.a. Prepare Machinery a/c for
3yearsending-31:12.92.

1-1-90 Sietim| @B Lewpw SuIBHID eb. 30,0008@ MBS LILLG).
Slewg LW LUMTULSDHS eh. 6,0000pD WS OLNHSSHINUSDS
¢b. 4,000¢pLD S)\5606fILLILILL 8. 1991 86160 1 S16TM) LDHODMTH SUIBSTLD
oh. 26,0006 QMMRISLULLLE. 1992 &6ned 160 (WPFHed SWHSILD
oh. 30,000&@ sfihsiurLg. i85 mrefled wHMID @E SwbSob
¢ 25,0006@ QUMMRISLILILLE)]. 31-12-92 Si6tim] 1991pLD Sp6t01(B &6M60
160 euTRISW GWIHSTLD erh. 23,0008 6MDHSLILILLG)]. R6UEEUNT(H Sp6TorBLD
REUT 31SpID BI6T HMTEHS WPeHSLULGSDE. CsUIbmerd 15%
&S5BS, 31-12-92 2_L 68T (PIQULD eLpetTm)] eU(HL SUIESTE SHETTEHMES
SwiflseeyLb.

10 AF-1511




19a. Fromthe following trial balance of a trader, make out a Trading
and Profit and Loss Account and Balance sheet as on 31t March

2007.
Particulars Debit Credit
(Rs.) (Rs.)
Sales - 4,20,000
Purchases 1,05,000
Printing charges 2,500
Wages 77,500
Salaries 12,500
Opening stock 2,25,000
Carriage inwards 8,800
General expenses 26,250
Trade mark 5,000
Rates and taxes 2,500
Capital - 1,74,800
Discount received - 1,250
Loan - 1,75,000
Building 2,00,000
Furniture 25,000
Machinery 50,000
Cash 1,000
Bank 30,000
7,71,050 7,71,050
Adjustments:

I. ““The closing stock was valued at Rs.3,20,000.
il. Outstanding salaries Rs.10,000.
iil. Prepaid rates and taxes Rs.500.
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&G sulL-@Gsiter efwinun @peurflett GmpLLMieNedwBg 2007 g
319D BB (WPIREUHLUID ShetorBHSMW eflwimumg Geom HLLE
SEWSHENSUILD SH[BHTEM6ITU SBLILIBemevs: GSMILILIEDWILD SWITT O\&FUIS.

efleumb umm 6uge)

¢Ib. ¢Ib.
efiHuemest - 4.20,000
E\BITETLPGE0 1,05,000
DIE& 6\F606) 2,500
660 77,500
&LbLIeNLD 12,500
O\BTL&SE SIaHSIBLIL 2,25,000
2 615 18:& 060 8,800
OLINEIE 6106 26,250
O p— 5,000
euflaemib efgmusenid 2,500
P> i 1,74,800
QUbD SeTEHLIR - 1,250
SL 60T - 1,75,000
&Ll LD 2,00,000
SIEDNBE060T 25,000
SuirbPHmb 50,000
Q\IM&&LD 1,000
o 30,000

7,71,050 7,71,050
Fifla Bge0a6iT

I “@mss srsSmiy way eb. 3,20,000 66w N LILLLE).
il. @&T@EUL Geuetoriow &LbLIEMLD e, 10,000.

Il apeirenLips OEaSSILILL aurflsEmpid eigmhisEmLD ep. S00.

(On)
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b. The Income and Expenditure Account of the Kovai Sports Club
for the year 1999 is given as follows:

Income and Expenditure Account
For the year ended 31.12.99

Rs.

To salaries 4,740
To general expenses 500
To audit fees 250
To secretary’s
Honorarium 1,000
To printing and
Stationery 450
To annual dinner
expenses 1,500
To insurance &
bank charges 150
To depreciation 300
To surplus 600

9,500

By subscriptions
By entrance fees
By contribution for
annual dividend

By profit on annual
sports

Rs.
7,500

250
1,000

750

9,500

This account has been prepared after the following adjustments.

Subscriptions outstanding at the ended of 1998

Rs.600

Subscriptions received inadvance on 31.12.1998 Rs.450

Subscriptions received inadvance on 31.12.1999 Rs.270

Subscriptions outstanding on 31.12.1999

Rs.750

The salaries outstanding at the beginning and the end of 1999 were
respectively Rs.400 and Rs.450. General expenses include insurance
prepaid to the extent of Rs.60. Audit fees for 1999 are yet to be paid.
During 1999 audit fees for 1998 were paid amounting to Rs.200.

The club owned a freehold lease of grounds valued at Rs.10,000.
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The club had sports equipments on 1.1.99 valued at Rs.2,600. At
the end of the year after depreciation the equipments amounted to
Rs.2,700. In 1998 the club had raised a bank loan of Rs.2,000.
This was the outstanding throughout 1999. On 31 Dec. 1999,
cash in hand amounted to Rs.1,600.

Prepare Receipts and Payments account for 1999.

Gamemeu eflememuT (B8 SaTLILN65T 1999DpLD ShewTENHSITEI QU6 H1F606

6018 SCLp STLILB6TeTg).
6UT6Y 615606) &/ S
B1-12-99341> G54 wiew)
eb. e

&LbLeMD 4,740 smen st 7,500
OLINEIE 6106 500 miempeys: sLLevorid 250
seflsenawneni eamgud 250  DpeGGANGHEHETS
e\gweorfletT 2emu b 1,000 eumedsss 1,000
N8 5a60 LDHMILD D601 eflemermun®
T(DGIEWITIHL &6 450 - efipmefetr Geomuiid 750
Sbeoor @ eflEbel 1,500
&M@ whmib
eurid) &L L 6woTLD 150
G ILDIT6DTLD 300
2 uf 600

9,500 9,500
B semisateng S Flal G560 OFIs NING SWMMSSILLLSTSLD.
1998 DhLD SpeuuTIRNS CUTEEUETITIQI FTBSIT E1STEWS em. 600
31-12-9831b G5HUT60 (LP6IT EUT6Y FHSIT E\GTEWS em. 450
31-12-9941b B5Sull6d (6T 6UTEY FHST O\SHTENS em. 270

31-12-9941b C5Hull6d EUTGEUETITIQUI EHEBIT E\GTEDS em. 750
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20 a.

1999 Spein® Wsedleyd SniSulayd O\FaysSLILIL Geustorioul FLDLIOTLD
WG erh. 400 LDHMILD e1h. 450 SHGLD. ILING] E)\F6v6iN6d (LP6iT Fal lpBLL
QEHBLILLL STUNG eb. 606D HLMBIGLD. 1999DpID SpewTIQMETEDT
Sevflaenaimenes 2e1du b euLpraIBLILIL 6l606meD.

199991D Dp6TITIED 1998 DD Db EWTIRNSTSH & 6101 &S DTN (HEH S
QUPMISLILILL erBuld erb. 200.

¢ 10,000 LpSLILJ6TeT &556ms sflenemun® enLbsTend @b Serlilhe
BmbsG. 1-1-993p1> Cs8LiLIg eflewemun @ LsTewIHigefer DSLIL|
¢h. 2600. Sbs Spetr® SmiHuied Gsuimestd Guns eflewemwim G
©_LiggeThiserledr DSLIL| eh. 2700. 1998bD Shetor® Herrll eurbiHued
¢h. 2000 &L6iT auNMhiSwig g BTN euenr-SHLLT SLLLILLefleben.
31-1-99 Sietim| OIN&S GbLIL eb. 1600.

BabDeNBEg 19994D Dh6wTeDHSTe LILMISE0 DHMID 56)I5560
SHETTEHMS SUIM TS

Afire occurred in the business premises of Raju on 19.7.99. From
the following particulars, ascertain the loss of stock and prepare a
claim for insurance.

Stockon1.1.98 Rs.36,720
Stock on 31.12.1998 Rs.32,400
Sales for 1998 Rs.2,16,000
Purchases for 1998 Rs.1,46,400
Purchases from1.1.99 t0 19.7.99 Rs.1,76,400
Sales fromd.1.99t0 19.7.99 Rs.1,80,000

The stockswere always valued at 90% of cost. The stock saved
from fire was worth Rs.21,600. The amount of the policy was
Rs.75,600. There was an average clause in policy.
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& eretTLieufletT O \BMLN6L euemasHed 19-7-9960 Bremetin) SLiLNies 58
Sipsanemib efluprisefiso bl HPHS FT&HS60T SUIEHLLLD LDHMID
S15E CHMBLD OSMTEDSHEMWILLD SHT6T0rd

Fradmuy (-1-1998) . 26,720
FIaSmUY B1-12-1998) . 32,400
sfipLiemest (1998) . 2,16,000
eaeTpsed (1998) eh: 1,46,400
C\EMETAPS6 1-1-99 (P56 19-7-99 euem @5.1,76,400
efihLiemest 1-1-99 (Lp&6v 19-7-99 euem eb. 1,80,000

FIHSHLILY eTIGLMSID HL&S SLIN60 90% 161G WS LILGSDS).
Sl BHE STUILMDD UL FI6S ob. 21,600 &MU LGS OFTemns
¢b. 75,600. unedlflulleo #gne eugLiL 2_evur(®.

(On)

. Afire occurred inthe premises of Bad Luck Co. Ltd. on 1.11.1999.
The indemnity period lasted for4 months during which the sales of
the company were reduced to Rs.2,00,000 only. The company
closes its account on 30™June every year. The profit and Loss
account for the year ended 30" June 1999 is given below:

PROFIT & LOSSACCOUNT FOR THE YEAR ENDED

30.6.1999
Rs. Rs.
To opening stock 5,00,000 By sales 47,50,000
To purchases 30,00,000 Byclosingstock 2,50,000

To variable expenses 7,87,500
To standing charges  3,62,500
To net profit 3,50,000

50,00,000 50,00,000
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GuL. e0d eSS BmieuetisHetT sueEsHe0 1-11-99 deiim S5 55
BSE&TeOD 4 s Besss. ibs sresHe efibLenes ep. 2,00,000
LDL"(BGLD. [BMILDLDIT6NTE| 696)616UMT(TH Sb6GaT(BLD 23°65T 30, HEDIN) H61TES SIBSHEW6IT
BmLULES GBS 30 g6t 1999S4Lb [HMGE(H (LPIREUHLUILD Sb6ToTBESHTE0T
B6OMUBLLE SH6T0T6@ SLDEUTHLOMD) :

B60NTLI [BL' L& SH600TEHS

OIIDLIE FTSAMmLIL 5,00,000 efibuemest 47,50,000
O\BMETLPEED 30,00,000 gmissrsdmiy 2,50,000
LDAMILD E\FE0EUSHET 7,87,500
1B6m608 E1F606SET 3,62,500
B&IeoMLILD 3,50,000

50,00,000 50,00,000

8nbs Bmeuerd @eoru QLys sTULELE umedd ap. 6,00,0006
aFWHmHESS. SUNRSS BTGTTE. (PlRaIENLU|D 12 LDIGHIS ED &S M6
sfihuement eb. 50,00,000 HMID 1-11-98 1psed 28-12-99 euenruieomest
4 prgmsefled sfipLenen ¢h. 15,00,000. DBS HTOSNS _6TeTLESW
SHETITIQENT (LPS6L 4 LDNMFMIS6IEST 6MDILIEHET HLIBS ShETuTemLs SHTLIQEYILD 20%
NPBHLDNEE SHTEOTLILIL LG

Soeonu @liLsanest BLIE CaHTHLD \GTENSENUIS SH6TTHSB.

*k*k
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